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> x <=7

> x

(11 7

> comment(x) <- "OOOOOO"
> x

(11 7

> comment (x)

[1] "Oooooar

>6 > x

> X

[1] 6

> comment (x)

NULL

> names(x) <- "ODOOOQOQOO*"
> X

gooooo
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> x[1] <- 4

> X

gooooo
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00000 ROOWKMmlOOOODODOOOOOOO0OO0OO0ODOOOOOOOOO0OO0O0OOOOOCOO pdf000000OCO0O0O

000 oo0o00o0Hml 0000000000000 00000O00O000O0O0O00OOO00O0ODOO0OO
00¢t0000000 t.testO) 000000 ODOOOODOOOOODO

[> help(t.test); # 7t.test 000000 ]

goobgoob oobobooobboobbooobobooobboobboobbooobboobboobbooobobo

oobodoobooboodooooobooooooobooooooooooobooooooobooOoooooooooan
000000000000 ooO0O00000O000000O0O0O0000O0O0O00000O FisherrDOOOOOO
0000000000000 00000000000000 fisher.test(stats) 000000000 Fihser OO
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<:> help.search("Fisher") j)

00 ROOOOODOOOOOOOOOOOOOOOOO0OODODOOOOO0ODOOO0ODOOODOOOODOOODODOOOOOO
gbobooooooboobobobooooogoo

[> example (barplot) )

000000 ROODODOODOOOOOOOOOOOODOOO0ODOOO0OO0OOOOO cOUOODOO0OOOOOODOOOO0
oooboooooob.obobobo0oooooboobobobobon

> x <- ¢c(2,7,11:19)
> X
[1] 2 7 11 12 13 14 15 16 17 18 19

OO0O0OC0O RODO function() 00O OOO0O0OOOCOOOO0OO0ODOOCOCOOOOODOOOOOOOOOODOOOO
O00O00C0O0o0OOoooooooggiistOQOODOOo

~

> x <= 2

> z <- function(a) { x <<- x+a }

> print(z(5))

(11 7

> x

(1] 7

> meansd <- function(X) {list(mean=mean(X),sd=sd(X))}
> meansd(c(1,5,8))

$mean

[1] 4.666667

$sd
[1] 3.511885
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0000000 CRANODOUOOUOOUOOUOOOUOOUOOUOOOUOOUOOUOOOUOCRANOOOOOOO
oooboooobobooobooooboooooboooboooooog

<i> options(repos="http://cran.md.tsukuba.ac.jp/") j)
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OO000000D0O0O00000000Do0o0O0000oooDO install.packages("OOOOOO" ODOOOO
oobooOooooOoooobooboboooooooooooOoO0oOOoOoOobOboOoOoboOo0ovvedOOOOoOoOoOoOooOO
0000000000000 00000000000000dep=T0OOdependency d TRUEOOOOOOOOOO
coboooooobooboooooooboboOoboOoOoOobOboOobOOoO0ObOCocOobOOO0ObOOoOobOOoO0ODbOOoOobOOoOnn
oooooooooooom

[> install.packages("vcd",dep=T) ]
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ROOOO00O0OOOfactord OO M characterd O O O [ orderedd O O [ numericd O O M integerd O O [ logicald O
00000000000 000Odata.framed 0000000 Mlist0000MMts00 0 00O M matrix( O O O vectord O
0000000000000 00000000000000000000000data.frame 0000000 O numeric d0O
O doubleD 0O OO0OOODOsingle0 000000000 OO0000000OODOOCOOO0OOO0OOOOODOCAO Fortran
0000000000000 0o00oo0ooU0ooU0oo00oodd0dcecomplex0 000D OOO0O0OO0OOO0OO
00000oo0o00o0oooooooon

oooooooooo dat$C <- as.factor(dat$C)
oooooooooog dat$S <- as.character(dat$s)
oo0ooooooogd dat$I <- as.ordered(dat$I)
oooooooooo dat$X <- as.numeric(dat$X)
O000ooooooooooo str(dat)
goddoooooooooo names (dat)

3 0O0o0oooon
31 0O0O0DOOO0O0DO

oo000000000000OROOOOO0OOO0O00000O0O0O00OD000000 155 ecmd160 cmO170 cm OO
O0000000000D00c(1565,160,170) 00000seq() 00000000000 O0rep(O 0 DO0O0OOOODOOO
O000O00O0OOmean(dat) 0000000000000 Osd(dat) 000000000000 0O00000O00O0O0OOO
200000000000000000000UDO0O0UO0O0O00O0O0OO000155 emdb0kgd ADOOOL160 cmObB5
kgD BODOO170 emO70kg 0 COOODODO0OO0Odata. frame(ht=c(155,160,170) ,wt=c(50,55,70)) 000000
00000000000000000000000$00000000000000000D00000 attach(O O0O0OO
00000000000 0attachO OD0O0000O0O0ODODOO detach() OOO0OO0DOOOODODODOO

a N

> dat <- c(155,160,170)

> dat2 <- seq(155,170,by=5)
> dat3 <- rep(160,3)

> mean(dat)

[1] 161.6667

> sd(dat)

[1] 7.637626

> dat4 <- data.frame(ht=c(155,160,170) ,wt=c(50,55,70))
> dat4$ht

[1] 155 160 170

> attach(dat4)

> wt

[1] 50 55 70

> detach(dat4)
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b dat0DO0obooooboobooo

> dat <- matrix(c(20,12,10,18) ,nc=2)
> rownames(dat) <- c(’00O0O0O?,>0000°?)
> colnames(dat) <- c(’O00O0C0O?,>0000°7)

000000000000 00oD 200030000000000000000O0O0O0O0OODOODODODODO Mmatrix()
O0000O00Db00Db0b0 1000000000 2000000000000O0ne=20000 20000000000
goooo0o 1oooboo0O0oDo00obDoO0O0ooOOoUoOoOoOoU0bDbO00OOO0ODO00DOo00ODOoOOooOOoOoDoboOoO
0000000000 Ochisq.test(dat) 00 O0O0O0OOOO
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oobooooooobooooooooboobooooOooobbooOooOOoOobObo0oOoOOoOobboOoOoOboOobOOoOooDObOOoboo
ooooooboooooooboooooobooooOooobooooooDboOobOooobDooobooboooDoOooobogo
000000000 *°00000000000001000000000000000000000000D0D00000OA0

oooooog
O0O0ID OO0 (em) OO0 (kg)
1 170 70
2 172 80
3 166 72
4 170 75
5 174 55
6 199 92
7 168 80
8 183 78
9 177 87
10 185 100

0000000000 DDOMicrosoft Excel O OpenOffice.org*'0 calc 000000000 OOOODOOOOOODOO
00o00o0o0o0ooU0oo0oOo0o0oUo0ooU0oo0o0oUo0DULOU0DOo0OO0o0DoOoUOOooDoOUODoOO
O0o0O00oooooOooOoPID, HT, WTODOOQOUOODOUODOODOUODODOODOOODOoOoooooooomoooooog
ooo0ooO0oO0ooU0oO0oOoU0oO0oOOoUoO0oOoUO0LOOoUDOoLOOoUDOod™

0000000000000 0D0000000000OMicrosoft Excel0ODODDOOOODODOOODOODOO (F)ODOoDOOO
0000000000000 00000000000000000OD00 (TODOODO0ODDO0D00DO0O00DO0O0O0O0O0ODO
0000C(G+xt) 0000000000000 0000000D0D0O0D xsO00 txt00000D0DM OO (S)DOooo
000 OoOKUOOO0O0O0O0Oooooooooooooooooooooooooooo0o0oo0o0o0o0oooooooogogg
O0000000000000 ExcellOOODOODOOOOOODOODOOUOOOODOOOOOOOOOOOOUODOOOOO
gobobooooooobooobobobooooooooooDoooooobLDobDobobDObbobooboobooDo

000 ROODODOODOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOODODOOOOOODO
0000000000000 00000 ROOOOODDOOOO sample.txt000000ROOOOOOOODOOO
dat <- read.delim("sample.txt") DO OODOODOOO dat 000000000 OOOOOO0O*20

000o0o0o0o0o0oU0o00oo0ooOoO0oOOo0oOo0o0oUOo0oUOo0DoOOo0DOoO0o0OoOoUOoOoUOOoODOOoOOO
goboobogoobdg

*I0R0D00000000000000 de() 0000000000000 0000000000000000000000000

*11 http://ja.openoffice.org/0 000000 MOMNMicrosoft Ofice 100D IDO0O0ONDDOOOODOOODOODN

1200 00Windows 0000000000000 O000O0000000Excel 0 calce 000000000000 O00O0OO0OR O
dat <- read.delim("clipboard") D0 O000O0O



> attach(dat)
> cor.test(HT,WT)
> detach(dat)

33 0000000

goboboooobooobooobboobbooboboobboooboobbooobboobboobboobo
gooooooooooboobbooobooobooobboobL bbb booobbboobboob Lo
obobobobobooobooooooooobooboobobobobobobDOobDobooooboobooobobOobOobo
goooooobooooooboobobooboboobbooobooobboob bbb bbobbboob b0
gobooobooobgoboooooboobooooboobobooooboboobobobobDooboobobDobobooDo
gooooooooboomooboobobooobobDoobooOoobobDoobobDobDoobobobobDUO
gboboboobobobgooboooooooooooboobobobobobobobDoDLDoOobOobUbobobobo
gboboboboboboooboooooooooooooboobobobobobDobDooDoooooboobobDobobo
gobooboobobuooboobbooobooboo

000000000000 00D (NA)OODO0ODO0OOD0ODO0OO0O0ODO0DO0ODO0OO0UO0DO0O0ODOODOUOUOOODOO
gooooooboooobooobbooobooobooobbooobboobLboobLDbbooLobboobboob Lo
0000000000000 0omo0ooo0o0o0oooO00oooO00000O000b0O000D0O000ORO0O NAD
O00ExcelDODOOOOOOODOOOOOOODOOOOOOOOOOODODOOOODODDOODODODOOOOOOODDOO
gobmooooooobgoobobooooobooooboboooobooboboboboobobobobooobobOoDbOobo
ooobooon

gboboooooooobobobooooooboboboooboobobobobboobobobOobmoboooon
00000000000 00000000000000000D*¥000000000000000000D0000000
O00000O0ExcelDOOOOODOODOOOOOOODOODOOOOOODDOODOOOOOODODOODOOOOOOODOO
00000 ooo0 ROODOOOOOUOO0OOODOdat0DOOODOOO00O0O0OODOODOOOOODOODDOOOOOO
00 100000000000 00D00O0000C0000 datcOO0OODOOOODDOOODO

C> datc <- subset(dat,complete.cases(dat),drop=T) ]

Jo000000O0DbOO0oDbDO0O 100000000D00D00D000O00ODO0OO0ODO0O0ODODODOO8ODODOODOOD
000000 500000000000 (recovery rate) 0 80%080/100) 000000000 (effective recovery rate) O
75%075/10000000000000000000000000000000O0DO0000DO0O0O0O0DOO &%UIO0D
aggd

34 ODO00O0O0O0OODOODOODOOOOODOODOOOODOODOOO

Microsoft Accessd Oracle0 0000 postgreSQLOIODO0000O0DO0O0O0OOUODOOOOOOOOOOODOOOOOO
000000U0U0U000000oo00o000o00o0000000U00U0U000U0PHP40O Apache httpdOO O OO OO
DDDDDDDDDDDDDDDDDD*14DDDDDDDDTC1/TkDDDDDDDDDDDDDDDDDDDDDDDDD
ROODODOODOODOOOOOOOOOODOO0DmMOODOOO0OOO0OO0ODO0ODO0ODO0ODOOOOOOORODBCO
O0000O0OO0OO0OO0OROOOO Dbase O OracledpostgreSQLO D0 00000000 OOOOOOOO

“Bopooooooo
*14 000000 http://phi.med.gunma-u.ac.jp/swtips/webdb.html 0000000000000



4 ROODODOOOOOOO

41 O00O0OOO

000ID OO0 (em) OO0 (kg) OO0 0O

1 170 70 M 54
2 162 50 F 34
3 166 72 M 62
4 170 75 M 41
5 164 55 F 37
6 159 62 F 55
7 168 80 F 67
8 183 78 M 47
9 157 47 F 49
10 185 100 M 45

1000000000000000000000000000000000000000000000000000000
O00o0000o0010000000 PID, HT, WT, SEX, AGEOUDOODODOOOOOOO0O0O0O0OOROOOOOOOOO
Osampletxt 0000000000000 0OOOO

(:> dat <- read.delim("sample.txt") :)

000000000 dat000O0O00O0OOOO0OOOOOOOOOOOOOOOOOOOOO0OOOOOOOOOOOO0
00000c(O)OO0OO0OO0OO0O0ODOO0OO0OO0OO0ODOO0OO00DOO0O00DOD0O00O0DO000O000O00000O0bO000OO00O00O0O0n
O00000Omatrix 0000000000 OOOO0O0One=50000000000000 0000000000000
OO0 1000000000 byrow=TOOO00OOO0O0ODOOOODOOOOO as.data.frame() DO0OO0OD0OOOOODOO
colnames() 0000000 DOOOO0ODOO0ODO100000000DO0O00DODOO FactorOOOOOOOOOOO M’ O
O0o0000000o000oOoo00o0obo0o0ooo00o0ob000o0bo0o0oo00ooO0bO0o0oo0o0ooO0bO0o0oooOooOobOoOooOooOooOn
O000000000D000000000 read.delim() DO0OO0O0OO0OO0OO0OOODOOODOO
4 ™
dat <- as.data.frame(matrix(c(

170, 70, 1, 54,

162, 50, 34,

166, 72, 62,

170, 75, 41,

164, 55, 37,

159, 62, b5,

168, 80, 67,

183, 78, a7,

157, 47, 49,

10, 185, 100, 1, 45),nc=5,byrow=T))
colnames(dat) <- c(’PID’,’HT’,’WT’,’SEX’,’AGE’)
dat$SEX <- as.factor(dat$SEX)

levels(dat$SEX) <- c(’M’,’F’)

N %

0000000000 0O00O0OO0OO0O0O0O0O0O0OO0OO0OO0OOOO0ODO data.frame() 000000000 OOOOOOOO
gooboobooobdooboooboobooobuoobboboboobbooooba
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ROOOOOOOOO [l]0OO0OO0O0OOO0OO0O0OOOOO0DOOO0OO0OOOO0OO0OOOO0OO0DOOOO00DODOOOO0ODOO0OO
cooooooooooooo

> attach(dat)

> mean (HT [SEX=="M’])
[1] 174.8

> detach(dat)

gobooobobooooobooobooobooobooobOodoboobOooobooobooobOoooOoboDbOon
[dat$SEX=="M’] 0000000000000 O0O0OOOO0O0ODOOO0O0ODOOOOOD

<:> cNms <- function(X,C) { list(N=NROW(X[C]),mean=mean(X[C]),sd=sd(X[C])) } :)

O000NOOOmean O0OO0ODO0O0 sdO00O0OO0 cNms(O 00000000000 O0ODOOOOODOO

~

> attach(dat)

> cNms (HT,SEX=="M")
$N

[1]1 5

$mean

[1] 174.8

$sd
[1] 8.58487
> detach(dat)

J
0000000000000 0b0O00000000000==00000000000000014s.02() 0000000

goooo40000000000DOCO00O0OOO00OOO0O0ODOOO0ODOOO0O0ODOOOO0OODODO0ODOOOOODOOO

00o00o0o0o0o0oO0o0o0o0o0o0o0oOO0o0oO0oO0ooO0o0oooO0oO0DoOOooDoOOoooooUooog «“r
ocoooocooood

~

> attach(dat)

> overforty <- AGE>=40
> cNms (HT,overforty)
$N

[1] 8

$mean
[1] 169.75

$sd
[1] 10.02497
> detach(dat)
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goboobbooboobobooobooboooo

> attach(dat)

> males <- SEX=="M’

> cNms (WT,overforty&males)
s

[11 5

$mean
[11 79

$sd
[1] 12.12436
> detach(dat)

oooOooooooolloooo0o0ooo0ooooo0oo0ooo0ooooo0ooooo0ooUoooOo
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ROOODODODOOOOODDOOOOODOOOOOODDODOOOOOD tepplyQO 0000000 OOCODOOOODOOOOODO
googoo

> attach(dat)

> tapply (HT,SEX,mean)
M F

174.8 162.0

> detach(dat)
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gobooboobboobooobobooboobbooboobbooboobbobobUoobbooboobLoOon

goobooobooooooooooooobooboboboboboooooooboobooboobobobobobOoDbOoD
goobooobooooboooboboobobooobbooobooobooobboobLboobbbooobboobobo
gboboboboboboobooooooooooooboobooboobobobobobDobLDOoOobOobobDboooo
gooooooooOooooooo0o TFPROOOOOOOOOOOOODOOOOOOODOO000000000000000
gooooogobooooooboobobuoobobooobooobooob bbb bbb obboob Lo
0000000000000 000000000000D0DDO000000000ooo*®oooooo*ooooo0ag
goboobobooboo

*15 PowerPoint 0000000000000 OpenOffice.org 0000000 Impress 0000000000000 PowerPoint 0000000
*16 OpenOffice.org 1000000 Draw 0000000000000 00 O Adobe O Tlustrator 000000 00 (1
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0000000000000 o00o00o0oUooo0oD (205) 0000000000000 0OOUO0O0OOUOOOO
000000 (ISBN4-06-149773-1) 0000000000000 O0OO00OOODOOOOOOOOOODUOOOOOOODOOO
oooooobooooooobooooooboooooobooooooobOooboooobOooobooboooooooogn
coboooobOooboooobooobooooOOoOooboo0OoOOoooo0ooOoOoobOocOoOooOoOoOoooOoooOoooogn
cobooooboooooooboooboooooooooooooooboooboOooobobooooOooooooooooobogn
coboodooboooodoobooooooobooooodobooooooooooooooooooooooooogn
coboooobooobooooobooooboooOoobOoOooboooboboooOoooooOOooOoOooOobOOoOobooOoooOoOoOooogn
oooooooooo

Joboooooboodd

gooboooboobooooooooooobooboobobobobooDooDooobooboobooboboobobobOoDbOoD
gooooobooooobooboobbooboboobobooobooobboobboobLboobDbboobboob Lo
oboooooooooog

goboooooboboooobooobooobooobboobboobboobobbooobboobboobboobo
goboooood

51 DO0OO0OOOODOOOODOODbOoObOO

gooooooobooobooobobooboboobboobbooobbooobboobboobboobboobo
00000000000 00000000000000000*"0000000000000000000D0O0000O0O0
gobooboobboob

00000 0O00000000000000000000000000000000000000000DOD XOOO
OO0OROO barplot(table(X)) OO0 DOO0OODOOOOODOOOOOOMODOOOOOOOOODODOOODOOOO
0o000++4+0400++01004+02004+401200-097000000000000000000000
000000000000 000000000000000O0O0tableX) 00000000 ODOOOOODOOOOO
00000000000 0000000 cOD0000Onanes() 0000000000000 O0O0OOObarplot() O
000000000000 000000000 OpenOfficecorgd DrawO0 000000000000 OOOOOO

17T table() 00 0000000000000 0O00000O0O00O00O0OO0O0O0000
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> ob <- ¢(4,1,2,12,97)
> names(ob) <- C(u+++u’u++u’u+u’ui u’n_u)
> barplot(ob,ylim=c(0,100) ,main="0000000000000000\nO00O0O0OOOOO™)

SN VOEVHEBHADREMRERLE
8. (5452 3 A 20)
8 -
8 -
g -
8 -
S N — —
+++ ++ + + -

oooboooooocooboooooooooboooboooo

ooooooonb ooobooobbodoooobooooboodooooobOboOoOoOooOooOOoOobOoOoOooOoOoooOoOoOooogn
00000 2000000000000bparplot) 00000000O0DO0OOOOO0ODOOOOOOOODODOOOO
ooobooooog

a I
ob <- c(4,1,2,12,97)

names(ob) <- C(u+++u’u++u’u+u’ui n’n_u)

ii <- barplot(matrix(ob,NROW(ob)) ,beside=F,ylim=c(0,120),

main="0000000000000000O"™)

oc <- ob

for (i in 1:length(ob)) { oc[i] <- sum(ob[1:i])-ob[i]/2 }

text(ii,oc,paste(names(ob)))

N )
go0oo0oo0obooo0obOo0obooobo0oobooboo0ooooobOoooOo0ooObOoobOoobDboOoDoa
godooooooooooooo +++0 ++40000+01004+0b/00-047000000 +++0400
++ 010040 1000 700—-050000000000000000000O0O0O0O0O0O0O0O0OOOOOO

0d0o0ddoodooo0oodoooooo ROODODOoOoOoOooooooo

a I
obm <- ¢(0,0,1,5,47)

obf <- c(4,1,1,7,50)

obx <- cbind(obm,obf)

rownames (0bx) <= c("4H+" M4t g ng 0 on_n)

colnames(obx) <- c("ODO","OO™")

ii <- barplot(obx,beside=F,ylim=c(0,70),main="00000000000000000O00O™)
oc <- obx

for (i in 1:length(obx[,1])) { ocl[i,1] <- sum(obx[1:i,1])-obx[i,1]1/2 }

for (i in 1:length(obx[,2])) { ocl[i,2] <- sum(obx[1:i,2])-obx[i,2]/2 }

text(ii[1],o0c[,1],paste(rownames(obx)))

VvV V V 4+ Vv Vv V

V V V V V V V V V Vv VvV

text(ii[2],0c[,2],paste(rownames(obx)))
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R YOEVHEBHABLXORBMGERE

o

BiE %t

0000 000000 100%000000000000000000000000000000000000O000O00O0
goooooooboboooboboooboooboobobooooooboobobooboboobDboobbOoboD
0000000 ROODODOOODOODODOO2000000000D0 B OOOODOOODODODOODOD4D0O0O
horiz=TOOODOOOO

~

> ob <- c(4,1,2,12,97)

obp <- ob/sum(ob)*100

names (obp) <= C("H+H", M4l Hpn wgow w_n)

ii <- barplot(matrix(obp,NROW(obp)) ,horiz=T,beside=F,x1lim=c(0,100),
xlab="()",main="0000000000000000O™")

oc <- obp

for (i in 1:length(obp)) { oc[i]l <- sum(obp[1:i])-obp[il/2 }

text (oc,ii,paste(names(obp)))

VvV V. V 4+ Vv Vv V

VEHEVHEBRAORBOREER

0 20 40 60 80 100
(%)

gooogobo boboooboboobobooobobooobbUoobbUooobbooobboobbboobDbboobbo
0000000 barplot() 00000 dotchart() DO DOO0O0O0OOO0ODOOOOOOOO0OODOOOOOOOO
gobogboooooboon
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> obm <- ¢(0,0,1,5,47)
> obf <- c(4,1,1,7,50)
> obx <- cbind(obm,obf)
> rownames(obx) <- C(Il+++ll’ll++ll,ll+ll,lli ll,ll_ll)
> colnames(obx) <- c("OO","O0O™")
> dotchart (obx)
> dotchart (t (obx))
\_ J
Bt +++
i
- ° Bk
+ .
. ++
ik
P Bt °
+++ .
g3
it Bt
- *
. %t
R Bk
+++ ) t&
Bt
0 10 20 3 40 50 0 10 20 30 40 50

0000 0000 100%00000000000000000O0DO0O0DO0O0DOODOOOODOUOODOUOOOOOO
0000000000000000000000000000*¥00000000000000000000000
O00000D000ROO pie() 000D0O00*9000000000000000000D000O0ODOO0OODOO
OROOOOOOO0OO0O0O0O0O0O0OO

> ob <- c(4,1,2,12,97)
> names(ob) <— c(ll+++ll’ll++ll’ll+ll,Ili Il’ll_ll)

> pie(ob)

52 OO0OO0O0OODOO

000000 00000000000 00000O0O00000O0DO0O00000000Excel0O0O0OOODOODOOOO
oo00o0oo00ooOo0O0oooU00oooU0oooU0oooUoooUooooooO00oDOoO00ooOoOUOUOoOROO
hist() 0000000000000000000000D0D0DDDOOO000000000000*°0000 900
gbooboooooobogoboboboobooobooboboboooooboboboboobobomWoooobogon
gcoooooooooooooooooooOooOoOoOOOOO0OO0O0OO001I0DOOOOOO0OOOO0OOO0O0O0O0O00O
goobooboooobooboooboobooobobooboobbooboobLbooboobbooboo

1800000000000 Cleveland 0000000 Cleveland WS (1985) The elements of graphing data. Wadsworth, Monterey, CA,
USAOOp2640 00000000000 DO0ODOOOOOODOOOOOUODOODOOUOOOLDODOOOUOLDOODOUODDODODODO
000o0o0ooU0O0oOO0oO0O0O0O00LO00O00O00D0D0@MOU0LOU00D0ODO0OD0OO0O0OD0OORO helpOOOOOOOOODOOOOO
gooooooooooooooooobooooooboooobooooboooboooboooboooboobooobooobOooLOoDbObDoDObDODDbOD
goooooooooboobooobboono

*19R-1.5000 piechart() DOOOOOOOOOOODO

*20 0000 http://phi.med.gunma-u.ac.jp/demography/makepyramid.html 00 0O
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> attach(dat)
> hist(HT,main="00000000O0O")
> detach(dat)

coooooobo ooobooobooOoOooOoOOoOOOOO0OOO0OO0OOOO0OOCOOO0ODOOOOCOOOOOOOOOObOOnO
oboooboooooooobooobooobooooboOooooboooboboobobOoDbbOboboOoboOobOobOoboOoDOoDOoD
cobooooooobooboooooooboOobooOoOoboOoooOoOoOobOboOobOOo0OobOboOobOOoOoOobOOoOobOoOoonaon
oobooobOooobooooooobobooooOooobooooooooboboOooboooobOooboOoOoOooboooobooOoon
O0000000000000000O0qarorn() 0000000000000 OQqline() 00000000000
cobooOoooobooobooobooOoOoOoOoboOoOobOoOoobOOoOoOooon

> qgnorm(dat$HT,main="00000000000",ylab="00 (cm)")
> qqline(dat$HT,1ty=2)

0000 0000 stemandleafplot 0000000000000 0O0ODO 500000 10000000000000
0000000000000 00000000000000000000000000000000R OO0 stem()
0000000000000 0D0D0000000000D0D000000000D0D0D00000000DDDO000
000000 9000000000000 0000000000000000000000000000DoooOO
00000000000000000000000*20

<i> stem(dat$HT) j)

O0OO0OQ0 0000 box and whisker plot0 000 boxplot 00000000000 ODOOOOOOOOOOOOOOOO
000000000 (median) 0000000 0O0D 1/400000000000 (first quartile) D 0000000
1/400000000000 (third quartile) 00 0000000000000 O0O00O0O0ODO0O0OCOOOOOOOO
goobooboooooooboobobgoobooooooooobobobDooDooLoobobobUubUo 150000D
gbobobobooboooooooooboobobobobobobobDoooboobUobUbobobOobODOD
gobobooboooobobooobooobboobboobobooobooobboobboobbooobobo
OO0OD0C0OO0O0OO0O0OO0OOROODboxplot() IO ODODOODOODOODOOOOOOOOOOODODOO

[> boxplot (dat$HT) )

ooobooooob bODooooooooooooobobobbooooobobobbbbooOboooUogbbobooboooo
ocooooo0oooooOoo0oooooo0ooo0oooOooO0ooooDO0oO0ooOOoooOUoooDOooDm@mROO
stripchart) 0000000000000 0000D00OO0Overt=TOODO0OOODOO0O0OMOOOOOOOOOO
gobodobbooboobooobooboooboobbobobuoobboobooboo

a )
attach(dat)

mHT <- tapply(HT,SEX,mean)

sHT <- tapply(HT,SEX,sd)

IS <- c(1,2)+0.15

stripchart (HT"SEX,method="jitter",vert=T,ylab="00 (cm)")

points(IS,mHT,pch=18)

arrows (IS,mHT-sHT,IS,mHT+sHT, code=3,angle=90,length=.1)

detach(dat)

\_ J

V V V V V V Vv V

*21 source("http://phi.med.gunma-u.ac.jp/swtips/gstem.R") 00000 stem() 00000 gstem() 000D 0O0000OO0DO0O0O
ooo
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OO0 O0OOO0O00000oOo0oooDOoOO0OO0O0O000UOOoOoooDoOoOoOCOROOplot)DO0OODODOOCOCODOOO
O00000000000000 plotO 0 pch000000000O0O0O0O0points() 0000O0OOOOOOO
0000D000000000000000D000 symbols() 0000000000000 *? 0000000000
00000000000 000000000 matplot() OO0 matpoints() 000000000000 OOOOO
O00000000 pairs() 000000000000 DO0O0O00O0O0O0OOOOOOO0OO text()OOOO
0000000000000 0000o0oooo0o0ooooo0n identifyQ O0OOOOCOCOOOOOOOOOO
coobooooboooobooooooooooOboOoOobOo0ooOooOoOooooOboOoOoboOooobooOon

[> plot(dat$HT,dat$WT,pch=paste(dat$SEX) ,xlab="00 (cm)",ylab="00 (kg)") ]

ooooooobO ooOooooOooOoOOoOOoOOoOO0OCOCcOOOOOCOOOOObOOOOOO0OCOODbOODbDOOn
oboooobooooooobooboobOoooOoOobOOoOOoOOobOOobOOoOOobOOobOOOoDOOoOoOoOOoOOoDoOooOoOooOOn
0000000000000 000000000000000000000000000RO0 stars() DO00OOO
ooooooooood

53 0OOOOOOO

00000000000 00000OOmaptools0 00000 ESRIDOOOOOODOOOOOOOOOGISOOOO
00000000000000000000000*¥00000000000000000000000000000O00O0
coooooobooooooooooooooboooooooooooooboOooooooon

6 D000

gooboooboooboooboooooooooboobobobobobDooooooobooboooooboboobobOoDbOoD
gooooooboooooobooobbooobooobooobooobbo0obboobLboobLDbboLODbboobL O
gbobooooobooboboboboooooogo

goooooboobooooooobobobbbooooooooooobobobboooooooooooooooboboboDoo
N(M,U2)DDDDDDDDDDDDDDD pil00 c2000000000000000000000000000wO0
0000000000062 00000000000000000000000000000 central tendencyd 0 00
0000000000000 000U00d variabilityDOODOODOOOOOOO

goobooobooobooobooooooooobooboobobobobobobDobooboobooboobooobooboobOoDbOoD
goooooobooooooboobbooobboobboobbooobooobboobboobbboobobboobbo
Ubobo0oooboboboooooboboobobdb0bparameterd 0000000000 0O0O00O00O0ODOO0OO0O
(location parameter) D000 000000000000 O0O (scale parameter) 00000000000 OODOOOO
googd

*22 0000 0http://phi.med.gunma-u.ac. jp/medstat/semen.ROD0 00000
*23 000 http://phi.med.gunma-u.ac.jp/swtips/EpiMap.html 00000000
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6.1 10000000000

goood table(C)
O00000000QIIDO000Q300 fivenum(X)
o
goooood NROW(X) OO O length(X)
o sum(X)
ooo max (X)
ooo min (X)
gooooooga mean (X) 0 sum(X)/length(X) OO0 0O
oooo exp(mean(log(X))) OOO prod(X)~ (1/NROW(X))
oooo 1/ (mean(1/X))
ooo median (X)
ooooo fivenum(X) [4]-fivenum(X) [2]
ooooo (fivenum(X) [4]-fivenum(X) [2])/2
oooo var (X) O sum((X-mean(X))~2)/(length(X)-1) OO OO
oooooo sd(X) Osqrt(var(X)) 0O0OOO
6.2 20000000000
oboOxObooboooooboo table(C1,C2)
Ox 0O0dooooogono cor(X,Y)
Ox OO000000ooooOoooo cor(X,Y,method="spearman")

6.3 DO0O0OODOOOOODOOD

ROOOODDOOOO0DOO0OO0O0D0O0O000DO0O0Otry(data()) 0000000000000 O0O0O ChickWeight O
000000oooo0000oooOo0O000oooooO00400000000000000SKOO000O0ODOO0OO
o0 20000000000000000000O0O0O0O0O00O0C3

Chick 00O ODD0O0O0O0DOOO0OOO0DOOOODOOOODiet0OO0OO0O0OOO0OODOOOODODOOOOOOOO
O0Time 0000000000000 O00000O00O0O0DOO0O0OOOwWeight 000000000 0ODOOOOOOOOO
oo0ooOoOo0ooboooxoooooooboooboooooo2000000000000000MODODO00DOOBODODOO
cooooooboocooboooooobooobooooo

> data(ChickWeight)

> attach(ChickWeight)
> X <- weight [Time==20]
> detach(ChickWeight)

7 Od
71 000000

ROODODOOOOOOOOOODOOOdOOODOOOOOOOOpOOOOOOOOOqUOOOODODOOOOr0O0OO
0000000000000000000000000000 150 ¢000 97.5%00000000qt(0.975,df=15) 0
000000 o00o0o0O 100000000000 100000000000 0rnorm(100,0,1) 00000000000
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O000000 normOdt000 tOFOOD f0000000O chisqOOOOOOOODOOOOOODOOD wilcox
00000000000 00D00OC000000000000DO0O000OORelp.search() DO00O0O0O0OODODODODOO
00000000000 curve) 00000O0ODOOO0OO0OOODOOOO 10000 2000000000000000
(0,20000000000O0OOODOOO

[> curve (dnorm(x,10,2),0,20) ]

72 ODO0O0OODOODOOOOODOObOO

oobooooboooobooooobooooobooooboboooooooboooo0ooDbbooobOOoobbOOobooOoooDbOOoooo
O0000000000000000000000000000000000000000000000000*#0000
ooooooooooooooooobooobooooOoooboooOooDOmobooooboooooboooobooobOboDboOoo
cooooooodoboOooooooooOoo0oooDoo0oobooOoooon

oobooooooobooooooobboooooobbooooOooobboooOOoobbOoobObOoOobboOooDboOobooo
gboboboboboboboooouoobootbboe bbb obobobobobODbOUObDObDOOOO
ooooooooooooooOoooooooooOoOoooooooOoOoopOOOOoOoOODOOl1OO00O0O0OODOOOO0O
oooooooooo

uobbooooooobooOooooobooboOoOooOoOoOobOOo0oOoOOO0OO0OObOOO0bOOOoOOOObOOOOoDObOOonn
ooobooooboooboono

ROODODODOOOOO0OOO0OO0O0OO0O000O0O000D0O000D00000000 p.valuedO0O0O0OO0O0ODOOO

73 DO0O0OODOOO

000000000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000 Shapiro-Wilk
000000000000000000

Shapiro-Wilk 00 00000000000000Z;=(X;—u)/c00000Z,000000X00000000000
000 N(0,1)000000000000000c(i) =E[Z(i)],dij =Cov(Z(i),Z(j))0000000000000000
0X(1)<X(2)<...<X(n)O ¢(1),¢(2),..c(n) 000000000000000000000DO0OD0000 ¢0000
000000 (0)=Y7",a:X(6)0 S2=Y" (X;—X)200000W = (k6%)/520000000000000000
000kO Y, (ke;)*=100000000

00000 XO00OO00OO0000o000000000000000000000

C> shapiro.test (X) ]

000000000 XO0O0OOOOoOoO0OO0O0oo0o0O0ROOOODOO length(X)ODOO300 500000000000
goOoo200000000Q00000O0O0bOUUDUDOOOODWOOOOOOOOODOOoOoOooooooooooogg
goboobogoobdoobooooboobooboboobboobobooboboooba

240000000 0000000000000000000000000000000000000000000000000 5%0 1%00000
oooo

18



74 1000000000

O00000ODO0O000000000000 shapiro.test(X)

oooogo t.test(X,mu=000)
ooooogo binom.test (table(B) [2],length(B),p=000)

75 O00OO0OOOO0bOObOOOobOoOobOobooon

0000000 XO0YOOOOODOODOODOOOODO0O00DO0O0O0000 uxOpuy 00000000D00C
pux =mean(X)=> X/n0 py =mean(Y)=>Y/n0000

00000000000 HO: ux =py 000000000000000000000000000000HL : pux # py
O000HIDODOODMpx >puy 000 pux < puy00D0DDD0D00000000¢t,0000000000000OO0
00000000000t 00000000000 0000000000000 5% 000000000000000000
tO0OO¢t00000 25%0000000000¢,, 000 ¢t00000 25%00000 97.5%000000000000
0000¢t00000000000000000000000000000000000000000000¢0¢000
000oO0*¥000000000000000000000

0000000000 X0YOOOOOOODDOOOOODOODOD0D00000000X000Yooooooooooo
0000000000 00000000 HO: pux > puy 00000000 Hl:pxy <puy 0000000000t 000
00000000000000000 5% 0000000000000 0¢+00000 5% 00000 9%%000000
D000000000RODODOOOOO0O0O0O00D0000000 t.test() 000000000000 000OOOOOO
alt="greater"O [ alt="less"OO OO DODOO0O00ODODOOO0OOO

76 00200000000000

000000000000 000000000DO0 X0OYOOOoooooOnyOnyOOODODODOODOODOOODOO
O000000000000000000*2%g

0000000000V O0000 2z = |EX)-E(Y)|/\/V/nx+V/ny 000000000000000000D0
0 *27|:|
000000000 0O000D0000O00000000000000D00000000000000000000000
0ooooo
1. FOOOOOOODOOOOOOMODO00000 X0 YOOOOO SX<-var(X) O SY<-var(Y) 000000
0000000000000 SX>sY0DO000000000 FO<-SX/SYDO D 1000 DFX<-length(X)-100 2
000 DFY<-length(Y)-10 FOOOODDOOOODDOO0OOODOO0ODD 1-pf(FO,DFX,DFY) 0000
O00000FOO000000000var.test(X,Y) 0000000000000000000000000
000 X000000000 cO00000CO00000X00000000000000000000000
0000000000000 Ovar.test(X"C) 0000000
2. 00000000000 000000000000000000000000000000000000000
000000000000 00000000000000000000000000000000000000
00000000000000 Weleh DOOOOOD0O0O000000000000000000000

2540000000000 to0000000000000000¢t00000000 ¢to0000000 10000000R OO0 1-pt(t0, O 0OO)O

26 000000000 00001981 000000000000000000000000000000 (1100000000000 00OD0OD000OO
ooooooo

2T0000000000000000Mann-Whitney 0 UODOOWilcoxon 000000000000000000
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000000000 00000 SO S<-(DFX*SX+DFYxSY)/(DFX+DFY) 0000 O0O0ODO
t0<-abs(mean(X)-mean(Y))/sqrt (S/length(X)+S/length(Y)) OO 00O DFX+DFYO ¢t 0000000
00000000 XO0YUOOOUODoOoDoOooooooOoOoO (1-pt(e0,DFX+DFY))*2 000000
ooo
ROOOt.test(X,Y,var.equal=T) 0000000 FOOOOOOOOOOOOOOOOOOOOOOO
0000000000t .test(X"C,var.equal=T) 000000000000 OOOOOOOOOOOO
O000OOt.test(X,Y,var.equal=T,alternative="1less") 00 0000 alternative="less"O OO
000D XXYOOOODODOOODODDOOooOo X»>=YyO0Ooooooooom

O000oOoOoooO0 WelchOOoooooo
toz\E(X)—E(Y)\/\/SX/nX—FSy/ny[II:JI][I o0 t0000000000000000000¢0O0O
oooon

(Sx/nx + Sy /ny)?
{(Sx/nx)?/(nx — 1)+ (Sy/ny)?/(ny — 1)}
ROOOt.test(X,Y,var.equal=F) D0 0Ovar.equal 000000000000 OOOOOOOOO
WelchOOODOOOO0OO0OO0OO0O0O0O0D t.testX,Y)YOOOODOOOOOOOOODOOOOOOOODOODO
O0O0t.test(X"C) OOODO

o=

Fisher 000000000 setosa 0O virginica OO OO Sepal.LengthD 0000000000000 ¢t000000OO
0000000000000 0 Fisher DOOODOOODODO versicolor000 30 0000000000000 300000
0000000000000 00Msetosa 000000 5.0060 virginica 000000 6.588 0 O p-value 0 2.2 x 10716
gdooooOoOoQoO00oO0O0O0O0OO0U00OUUUUUOUUUOUOUUOoUOUOoOoOoOoOOOOg
4 N

data(iris)

setosa.sl <- iris$Sepal.Length[iris$Species=="setosa"]
virginica.sl <- iris$Sepal.Length[iris$Species=="virginica"]

vareq <- var.test(setosa.sl,virginica.sl)$p.value >= 0.05

vV V V VvV V

t.test(setosa.sl,virginica.sl,var.equal=vareq)
Welch Two Sample t-test

data: setosa.sl and virginica.sl

t = -15.3862, df = 76.516, p-value < 2.2e-16

alternative hypothesis: true difference in means is not equal to O
95 percent confidence interval:

-1.786760 -1.377240

sample estimates:
mean of x mean of y

5.006 6.588

\_ /

77 O000O0OD0?200000000D000

gobboobooobbooobooobboooboooboobobogbbsetosabl 000D OO0DOOODOOO
O00Ovirginica OO0 O00O000000000O00O0O0OOvirginicaO 50000000 Sepal.Length O Petal.Length
000oo0o00o00oo0o0oooo0o0ooOo00o0ooO0o0oooO0o0ooOO00oOoOOo00DOO0OOoDoOOOO
gobobobobobobobobobobobobobob 20000000000 UOODUOODOODOODUOODODODOOOO
0000000000000 00000000O0O00MO000000000000O0Opaired-t 0000000000
00o0o00O0o0oDOOo0oOO0U0ooO00ooOOoOooOooO0 ooOUbODOUDOOU0ODOUDOUODUOOROODODOOODOO XO
Y O paired-t 00000000t .test(X,Y,paired=T) 00000000000 t.test(X-Y,mu=0) 00000000
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goobooboooobooboooboobuoobboobboobooboobbobDboobo0boobDboDbOoob
gboboooooooboobobobooo

00000000000 ROODDODODOOOO0OODOOODOOOO tO000ODO0ODODDODOO0OO0ODODOOODO0O0
pvalue 0000000000 OvirgmicaOOOOOOOOOOOOO0OOO0OOO0O0O00oooooooooog

~

> data(iris)
> virginica <- subset(iris,Species=="virginica",,drop=T)
> attach(virginica)
> t.test(Sepal.Length,Petal.Length,paired=T)
Paired t-test

data: Sepal.Length and Petal.Length
t = 22.8981, df = 49, p-value < 2.2e-16
alternative hypothesis: true difference in means is not equal to O
95 percent confidence interval:
0.9450788 1.1269212
sample estimates:
mean of the differences
1.036

> wilcox.test(Sepal.Length,Petal.Length,paired=T)

Wilcoxon signed rank test with continuity correction

data: Sepal.Length and Petal.Length
V = 1275, p-value = 7.481e-10

alternative hypothesis: true mu is not equal to O

> detach(virginica)

§ UDDboOOoooooobogd
8.1 DODOOODOODO

joooooooooooooooO 200000000000O00C0COO0O0O0O0O0O0OOODOORnO000 2000000
ooooo ¢, 0000001000000 100000 5% 000000000030000000000000000
0100000000000000000000000 1000005%00000000000000000000

gooobooooooooooooooooooooboooooooobOoooooboobooooOoOboOoooobooooooooo
000000000000 0000000000000000D000000000000D0000000 (Kruskal-Wallis)
cooooooooogd

0000000000000 005%0 20000000000000000000000000000O0O0ODO 100
0000000000000 00000D0O00000000D 5% 0000000000000000000O0O0O0O0O0OO
ooo

00020000000000000000000000000000O000O0DOO0O0OODOOOOOOOO0n (1997)
coboooobooooooobooooboooOobOOoOoOooOo0oO0obOOoOoOooOoOoOOoOobOboOoOooOoOooboboOoooOooobooOon
oooooooooOoooooooooOoooooooo0oooooo0oomooooooooo,197o0moood
cobooooboooooooooboooOoOOoOoOoOoOoOoOOoOoOoOoO0OoOOOobOOoOoOoOOoOoOoboOoooOOoOoooOon
ooooooooobooooooooobooooobobooooboo0ooooboOooobooboOooon

ubobooboooooooboooboobooboodoOoooboOooOobooOooOo0booOobOoO0oOo0obOOoOobOOobOboObOoOooO
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goooOoOoOoOoOoOoOoOoOOoOOOOOO0O0OOOOO0O0ODOOO0OOOODOOODOODOODOOOOOO0 post hoc O
obobooboboboobooobooooooooooobooboobobobobobobDobLDOooobooboLobbooboooo
gooooobooobobooboobooobooboooboobbobboobbobLboobbobbOooDbOoo

82 DOODOODODO

o0oo0o0ooOo0oOo0oO0oooO0ooOoO0oOOO0oO0o0OoO0oooOoOooOOoO0oOOo0OoO0o0oOo0oOoOoooOOooOoOO00O0n
gbobobobobobobooboooooboobooboobobobobobobOoboboooOobobobobooboooo
o0oooooO0oooO0oOo0oO0o0oOo0Oo0OoOoO0OoO0OO0O0OO0O0OO0OOO0ODOO0O0O0O0O0OO0OOOBDO0
cooooocoboooobooooobooboooboooooobooboOo@mobooooooboooooobooobooboooDboOon
o0o0o0o0oO0boO0o00oO0oO0o0o0bO0o00O0o000o0b0o00O0bO000O0O000000000000

OO00O00000ROCOOODODODODODOD chickwesOOOOOOOOOOODOOOOOOOOOYIOODODOOOOO
0000000000000 000000000LO0O0000LO0O0O00DODOO00O0DOoDOOoOOOoOOR Consoled
7chickwts 0000000000000 O0O0DODO Anonymous (1948) Biometrika, 35: 214. 0000 000000000
god

0 \Dmmmmmmﬁmmmmmmmmm(@

0000 (casein) 368, 390, 379, 260, 404, 318, 352, 359, 216, 222, 283, 332
0000 (horsebean) 179, 160, 136, 227, 217, 168, 108, 124, 143, 140

00000 (linseed) 309, 229, 181, 141, 260, 203, 148, 169, 213, 257, 244, 271
00000 (meatmeal) | 325, 257, 303, 315, 380, 153, 263, 242, 206, 344, 258

00 (soybean) 243, 230, 248, 327, 329, 250, 193, 271, 316, 267, 199, 171, 158, 248
000000 (sunflower) | 423, 340, 392, 339, 341, 226, 320, 295, 334, 322, 297, 318

chickwts 0000000000000 000DO00DO weight 0000000000000 feedODDOODODOOO

00000000000 20000000000000710000000000000000000000000000
0000000000000 000D000000000000000000000000000000000000000
000000000 *80

- R
data(chickwts)

attach(chickwts)

layout(cbind(1,2))

boxplot (weight~feed,ylab="00 (g)")

stripchart(weight~feed,vert=T,method="jitter",ylab="00 (g)")

detach(chickwts)
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oobooobooO0oo0oo0o00obodobodoobO0OddOweight 00000000000 feedd000O0O0O00O0O

*28 00000000000000000 http://phi.med.gunma-u.ac.jp/medstat/it07-1.R0000000000000
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0000000000000 0000000000OR Console0000O00O0ODODOOQO summary(aov(weight™feed)) O
00 anova(lm(weight™feed)) 0000000000000 O0O0ODODOOOOOOOOOOOOODOOOOODOODOOO
gobooboooboobbooboon

~
> attach(chickwts)
> summary (aov(weight~feed))
Df Sum Sq Mean Sq F value Pr(>F)
feed 5 231129 46226 15.365 5.936e-10 **x*
Residuals 65 195556 3009
Signif. codes: O ‘**x’> 0.001 ‘x*x’ 0.01 ‘x> 0.05 ‘.’ 0.1 ¢ > 1
> detach(chickwts)
/

Oo000000000000000000ooo«xooooooooooooO0O0O00O0O0O0O0O0ODO0OPrCGFH OODOD
gobooboobobooboo

Sum Sq 00000 (sum of squares) 000000

feedd Sum Sq U0 2311290 0000000000000000C00O00O0OOOOOOOOODOOOOOODOOOO
gobooboobbuooboobboobioobboobuodbbonobUutbtfeedbdgbbgoobooboobobO
Residuals 0 Sum Sq O 0 195556 00 0000000000000 0O00O0O000O0O0O000O0O0O0O0O0OODOOO
gobgoobooobooboooboobooboboobboobooboooboobbooboobbooob

Mean SqU 00000 (meansquare) 0000000000 OO (pf)00000000O0ODO0O0OOOOOOOOOOO
feedd Mean Sq 0 46226 0 0000000000000 O0CCOOO0O0O0OResidualsO Mean SqO00 3009000
goboobogobooboon

FvalueO0OOOOOOOOODOOOOOOOOOOOODOOOOO0ODOOO0OOOOOD 1000002000650
FoooOooooOoOooOOoOoOooOO0O0oDOOO000oO0OO0DODOO0DOD F>1O0OOOODOOoOOOOoOoOoDoOOoooOO
o0o000o0o0oO0ooO000O0b0o000000000001-p£(16.365,5,65) 000000Pr(>F) 0O000OOOOO
000000000000000000 5.936e-100*0000000000000000000O0feed0000 5%0
0000000000o0O0obO0obO0obOO0oo0oo0ooo0oo0ooDO0ooOoo00 e0000ODODODOOOODODODODODOODOODOO

goooooooooooooooooooooooooooooOoO0OO0O0O0U0oooooooooOooODOOO
gogooooobooboobboobboboooooodobobbbbbbbboboog g
000000000000 0000D0 (Bartlett) 000000000 O0OOOOROD bartlett.test(UOOO00O0O
00)0000oU00oDooO00oOo0O000oo000Oo0000O000000000DO0D00DDODOD0DDO0DODOOOOOO0OoOd
kruskal.test()0 0000000000000 OO00O0OOO0OO0O0OOO0OOO

OO0 0D00O0Obartlett.test(weight™feed) 00 ODUO0DOODON p-valueO0OOO0D0.6600005%0000
gogoooooboooooboobbuoobobooobooobbooobL bbb bbb bboobboob b O
ooooooooooooooooooo

*QQDDl—pf(15.365,5,65)DDDDDDDDDDD 300 10000000 F valueOOOOOOOOO
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> attach(chickwts)
> print(res.bt <- bartlett.test(weight~feed))

Bartlett test of homogeneity of variances

data: weight by feed
Bartlett’s K-squared = 3.2597, df = 5, p-value = 0.66

> ifelse(res.bt$p.value<0.05,
+ cat("OOOOO BartlettJOOO p=",res.bt$p.value,"\n"),
+ summary (aov(weight~feed)))
[[1]1]

Df Sum Sq Mean Sq F value Pr(>F)
feed 5 231129 46226 15.365 5.936e-10 **x
Residuals 65 195556 3009

Signif. codes: O ’*¥x’ 0.001 ’**’ 0.01 ’%’ 0.05 ’.” 0.1’ ’ 1

> detach(chickwts)

83 0O0OODO

gobodoooooboooooobobooboooooboodoooobood0ooooboooooOooobboOoooDoboOoooa
o0oo0oooO0o0o0ooo0O0o0oooOO0o00oooOo0o0ooOoOO00oROOOODOOOOOODOOOOOODOO
000000 ROOOOOOOODO HolmOOODOOOOOOOROOOOOOODOODOOOOODOODOOOOOOOOO
cobooooboobooOoobooooooOOoOoOooO0O0obOOoOobOOoO0OoOOoOobOOoOoOoOOoOobOOoOoOooOoOoOooogn
ooobooooobooooboooooooooooooboooobobooooDo

~
> attach(chickwts)
> pairwise.t.test(weight,feed)
Pairwise comparisons using t tests with pooled SD

data: weight and feed

casein horsebean linseed meatmeal soybean
horsebean 2.9e-08 - - - -
linseed 0.00016 0.09435 - - -
meatmeal 0.18227 9.0e-05 0.09435 - -
soybean  0.00532 0.00298 0.51766 0.51766 -
sunflower 0.81249 1.2e-08 8.1e-05 0.13218 0.00298
P value adjustment method: holm
> detach(chickwts)

%

000000 Fishee D0DD0OOD0O0DO0OO0300000000 (Petal Width) 0D OO0ODO0OODO0OO0O0O0DOOOOODOO
gooboooooooo
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O DbhOobOoobooo

ooooooo2000000000000000000DOOO00O0OO02000000000000000DO000O
odooooooooooooooooooooooooooOOOOOOOCOOODOOOOOO0O0O0 1000000000
ooooooooo woooooboooooooooocooo oooobooooooooooooooooooooog
000000000 (case control study)**°0000000000000000000000000O0DOOO0DOOOOOO
coboooobooooOooobooobooOoOoOOoOoOoOoOoOoOOoOobOOo0oOoOOoOobOOoOoOobOOoOobOboOoOoOOoOoooboOon
0000000000000000000000000000000000000000000*310

901 O0OOODOOOO

ooooooooooooooooooooOooooOoOoOoooooOoOooooOoOo2000000000000D00C000
oooooooooobobOobOobOOoDOoDbOobOOoobOOoDbDOobDO0DOOobObO0obO0ooooOoboooOooDoDOoDbOooboo
cooooooo

O 1 2 3 4 5 6 7 8 9 10 11 12 13
oo o o o o o o o o o o o oo
oo o o o oo o b0bo0bob o o 0o

oooooo0o0ooo0oooo0 ROODOODOOOOOOOOOODOOOOOODOODOOODOOOODOOO 20
00 table() OO0D0OOO0OO0OO0O0OOOOCOOOOODOOODOOOOODOODODOOODOODOODODOOOODOODOO
mosaicplot() DO O0O00DO0OOO0DODOOOODOOOOO

4 I
> pid <- 1:13

> sex <- as.factor(c(rep(1,6),rep(2,7)))

> levels(sex) <- c("O","O™")

> disease <- as.factor(c(1,1,1,2,2,2,1,1,1,1,2,2,2))

>

>

levels(disease) <- c("O0","O ")
print(ctab <- table(sex,disease))
disease
sex 0O O
o 3 3
o 4 3
> mosaicplot(ctab,main="2x 20000000000000000O")

J
ooo0200000000000C0C000000O0C0 2000000000000000 2x 200000002x%x 2

gboboooooboobobobobooooogooooo
0000000000000 0000000000000000O0O000D000D0D000O chisq.test(ctab) 00000

=0 0gpo0oooong

3l 0gpooO00000000000000000000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000000000 1000000000000
000000000000000000000000 (cohort study) 0000000000000 000000000OOOOOO0OOOOOO0O
ooooom...... 00000000000 000000000000000000000000000000000000000
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4 )
goooOdO0 oo0coooo0poo0oOooooo00oDoODoOO0U0ODOOoO 10000 UUODbDOoObDbOOUODO
0000o0O00obO0o0O0O0bOo0OO0O0oO0oobODo0obDOooObOOoo OO0 DO0DDbOoDbO0ObODOODOO0ODO 550

coobooooobobooooooOoOoOoOoOoOoOoboOoOobOOoOoOobOoOoOoOooon

¢f0oOooO0oo0oO0ooOOobOOOO0ObOO0OO0O0OOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOODOODOOOOOO0
oooooooo

N J
obooooooooooOocOoOooOoocOooOboOoOobOOoOoOoOoOoOoOoOoOoCcOoOoOOoOoOooObo

gooooo oOoocoooo oo

ooooooooo 80 55 135
ooooooooo 20 45 65
od 100 100 200

gobooooooooobooooboooOoOooOoOoOooOoO0OobooOoO0OoooOoOoOooonn

ooooo ooooo
0000 135x100/200 = 67.5 135 x 100/200 = 67.5
gooo 65 x 100/200 = 32.5 65 x 100/200 = 32.5

uoboooooooooOoocoOoooOooboooobooooo

X2 = (80 — 68)%/67.5 + (55 — 67)%/67.5 + (20 — 32)?/32.5 + (45 — 33)?/32.5 = 13.128...

000000000000000000000 1-pchisq(13.128,1) 0000000 0.00029.. 00000000 5%00
0000oo0o00oooO0o00ooO00ooO000oOO0000OO0000ODO00OoROOOOOOOO

~
> X <- matrix(c(80,20,55,45) ,nr=2)
> chisq.test(X)
Pearson’s Chi-squared test with Yates’ continuity correction
data: X
X-squared = 13.1282, df = 1, p-value = 0.0002909
/

ggooooooooobobbooooobbooooobbbbooLob bbb o g
gbobooooobooboboboboooooogogo

> smoker <- c(80,55)
> pop <- ¢(100,100)
> prop.test(smoker,pop)

0000000000000 000000000000000000000000 FisheeOODODODOOOODODDOODOOO
00 X00000000000000000Ofisher.test(X) 000000000000 0.000259000000000
05%0000000000000000000000000000000000000000000 2x 2000000
O000000000fisher.test() 0000000000 OODOOO 9% 0000000000000000

92 OOOOODO

gooooooobooobooobooobbooobboobboobboobbboobboobboobbooL D
obobobobobobooobooooooooobooboobobobobobobobDobLDoOoobooOoobobDoooo
goboooboooboboobbooobooobooobooobboobboobboobbbooobboobobo
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oooooooboooooooboooo0ooboOoooooboooo0ooobOoobooooobOoooooooDoOooobogo
coboooobOooboooooOooooboo0oOoOOoOoOOoOoO0obOOoOoOocO0O0oOOoOobOOcOoOoOOoOobOOoOoOooOoOooooOon
oooooooboooboono

KDDDDDDDDD ()ooooo

B

0000 (prevalence) OODOO0O0OOOOOOOOOOOOOOOOOOOOOOOOODOODODDODODOOOOODOOOO
0000000000000000000000Opoint prevalence 0000000000 prevalence 0000000000
goooooooooobooooobooboboooboobooboooooboboboDOoDOoDOoDOobDOoDOoDOoD
0000000000000 00000000000 prevalence 000000000000 OOOO

00000 (cumulative incidence) 000000000 (risk) 0000000000000 O00ODOOOOOOOOOOOOODOO
goooooooo0oOooo0oOoooUoOooOo0OooOoOoU0DbDoU0oOO00oOOUDOOOD0m20000000DOOO
gooooboooooobooobooooooboooooooobooooooboobooboobOobooOoobOobbOoDobObOoDO O
oooooooooobOooboooooboobooDbo

000 (incidencerate) 00000 0DO0O0O0O0O0OODOOOODDOOODODOOODDOOOUODDOOOOODDOOOODOOO
000000000 International Epidemiological Association O Last JM [Ed.]“A Dictionary of Epidemiology, 4th
Ed.” (Oxford Univ. Press, 2001) 00000000000 OIncidence 00000000000 DO0OODOOOODOOOO
gboobooooooooboooooooooooooooooboobobooboobooobOOooboooOooOoooooooOooboOooDOoon
goboboooobooobooooboobooobooboobooooobobooooboobooooboooobooobboobooobooon
gooobooobooobooboooboooooooboobooon

N J

0000000 (odds) D0DOD0ODOODO0DOODOODOOODOODOODODOOODOOODOODODOODODOODOOODOOODO
0000000000000 0U00OU00OU0DO0DO0D0OD0ODOD (disease-odds) 00 O0O0O0DOOODOODOODOOOO
0000000000000000000000000000000000000000 (exposure-odds) 0 00O

goboboooboooooooooooooooboobobobobobobobooobooboobobooboboobOoDbOoD
goboooboooboboobboooboooboboooboboobboobboobbooobboobboobobo
goboobooboboobooboboooobdg
KDDDDDDDDD (2) 000000000

N
OO00O0O0ORelative RiskD O0OO0OO0O0OO0O0OO
000D (risk ratio) 00O 00000 cumulative incidence rate ratio0 00 0000000000000 0D0O0O0O000O
gooooooo
000D (incidence rate ratio) 0000000000000 D0O000DCODOOOOODO
0000 (mortality rateratio)) 00 0000000000000 0DO0D0O0OODOODODOOOODOOOOOOOOOOOO
O Orate ratiod 0000
0000 (oddsratio)) 00000020000000000000000000O000ODOOOOOOOOOODOOOOOOOOO
oooooooooooooooooooboOoooooooboooOoooooOoDOoOobOOoOoOoOooOoDObObOOoOoOoOoooDo
0000 (attributablerisk) 0000000000000 0ODOO0OODO0OOOOOOOODOOODOOODOOOOOOOOOODOO
0000000000 (risk difference)0 0000000 (incidence rate difference) 00000000 (excess risk) OO
ooo
0000 (attributable proportion) 000000000000 OO0ODOOOODOOOOOODOOOOODOODOOODOOODOO
oooooooobooooooooobOoOooooobooobOoOooooono

N J

ooooooooooooooooooOOOOOOOoOoOoooooooo10o0oooooDOOOO0OCbObOOObOOOo
0000000000 9% 00000 1000000005%00000000000000000*320

gobooooboooobobooooboooooobobooooooboboooboooDbbOobobOoobDbOOobooooDbOOoooboo
coboooobOooboooobooOooooOooOoOoOoOoo0oO0obOOoOoOoo0oOOoOobOOooOoOOoOooboOoooOoOooogn
00000000000000000MmMOOOo00 (prospective study)[ 0000000000000 (cohort study) O

*32 00000 Rothman O Greenland 00 0000000000000 000000000000000000O0000O0000O0000D0O0O0
0000000000000 00000000D0000000D00000000D000000000000000D00000 9%%0000000
0000000000Rethman 0000000000000 00D00O000000O0O0O0Dp-valueOOOODO0OO0O0OO0OO0O0O00OOO0ODOO
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0000000000000 0 case-control study¥#30 0 0 0 O O O cross-sectional study30 0000000000
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00000D00D00000000
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0000000000000000000000

O0OORO fisher.test() 00000000000 Oad/be 00000000000000D0000000000
00fisher.test() D000000O000O0ODO0O0000000ODD0O000000O0ONDN0O000OO000OGO
000000000000000000000000000000000ved000000 oddsratio() 000 log=F [
DDDDDDDDDDDDDDDDDODDDDD%%%%%%DDDDDDDDDDDDDDDDDDDDDDDDD
000000000000000000000000000 summary(oddsratio()) 00000000000 00000
confint(oddsratio()) 00 D000 DDO0OOONOOOONONO0OO0DOO OO
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(4/100000)/(2/100000) =2 00000000000000000000000000000O0000O0O0O0000O0
0000000000000000000000000000000000000000(4x%99998)/(2*99996) ~ 2.00004
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coooooobooooooooOooOoOoOoOoOboOoOobOOoOoOooooa
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coooooocooooobOobOOoOOobOOobOobOOoOO0obO0o0ooooobOobOOobOOobOOobOOobOOo0oocoocooooo
coboooobooooooobooobooooobooooboooobooobooooobOOoobooOooobOOoobobooooooooboOon
00000000000 00000D0D000000D0000000D000000000000000*3%0

ooboooooboooobooOoobooOobocOobOOoOooOoobocOobOoOoOoOobOboOoOOoObOOobObOOobOOoOoOoOoboOoOooo
ooooooooboooooooooboooobooooooooooooobobooooboooOooo

uobboooooobobooooooboboOoooOobocO0OoOo0oUOobOOoO0OoOoOoOobOOObOOO0OOO0OOOOobDbOOoOoDOOd
00000000000 boo0o00oo00oOYuleD QUUOOOODOODOOODDODODOODDODOOOODODOOOODO
coboodooboobooooobooobooooooooooobooooooobooboooooooooooooooogn
coboooobooooooboooboooOoobOoooooOobOOoooOoocOooOoOoobooOoOoOoOooobooOoooOoOoOooogn
0000000000 test-retest-reliability 00000000000+ 0000000000OO0DOOOOOOOOOOO
coooooooooom

0000000000 9%%000000000000000000000000000000D00OUO0DOOOUOOO
o0o0o0oooooooooooooo0oooo0o00oooDD M O0Om 0000000000000 000O0 XO0OoOo
o0 YOOooooooooooooooooooo

go gooo oo
oooad X ml—X mi
oooad Y mg—Y mao
oo X+Y N-X-Y N

00000000000000000000000000000000 7, =X/m0000000000 m=Y/my00
000000000000 RR=m/m = (Xmg)/(Ym;)ODODOO

00000000 NOOOOOODOOO0O00000000000000000000000000000000000
00000000000000000000000Bailey000000000000000000000009%0000
000000000000

RR - exp(—qnorm(0.975)\/1/X —1/my +1/Y —1/my) 00O O (1)

5 000000000000000000000000000000000009%000000000000000000000000
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RR - exp(qnorm(0.975)\/1/X —1/my +1/Y —1/my) 0000 (2)

O0000O00ORROOOOOOOOOOOOOOOOOOOOOOOOOOODOOOOOOOODOOOOOOODOOO
oooooooooo

0000000000000000000000000000000000000 200009%000000(0.37,10.9)
0000000000000 0000000000O00200000000000009%% 00000000 100000
000 5%0000000000000000000000000000000000000000000O00O0O0

/,V riskratio2 <- function(X,Y,m1,m2) { R
data <- matrix(c(X,Y,m1-X,m2-Y,ml,m2),nr=2)
colnames(data) <- c("OCOQ","0OCoO","0Q0"™)
rownames (data) <- c("OOO","COO")

>

+

+

+

+ print(data)

+ RR <- (X/m1)/(Y/m2)
+ RRL <- RR*exp(-qnorm(0.975)*sqrt(1/X-1/m1+1/Y-1/m2))

+ RRU <- RR*exp(qnorm(0.975)*sqrt(1/X-1/mi1+1/Y-1/m2))

+ cat("OOOOOOOOO: ",RR," 95%0000 = [ ",RRL," , ",RRU," J\n")
+

>

}
riskratio2(4,2,100000,100000)

\_ J

0000 epitools 0O OODO riskratio() 00000000000 DOO0OO0OO0OOO0O0ODOOOOOOOOOODO
0000000000 rateratio() 0000000000 ODOO0O0O0O0O0O0OOOOOOOOOOOOOOOOOO0OO
00000000 ’midp’0007wald’0007boot’0 00 0000000000000 O0O0O0ODOOOOOOOODOOO
coobOooobooobooOooooOboOoooooboOo0obOOooobOooobo0oDbOOddOmethod="wald"OOOOOOO
O0000000000000 median-unbiased 000000000000 O0ODOOCOOOO0OOOODOOOOOOOO
epitools U0 0OOOO0OOOO0OOO0O0OOO0O0OOO0DOOODOOODOOOOOOOOOOOOOOOOOOOOOODOOOD
000000000000000000000000000000000000M 0000000000000 2095%0
0000 (037,109)00000000000000000O00O0OO0Omedian-unbiased 00 0000000000000
cooooomm

> library(epitools)
> rateratio(c(2,4,5%100000,5%x100000) ,method="wald")

00000000000O0DO00O0000 a,b,e,d00000000O0OO0OOOO0OOOOO OROOOR = (ad)/(bc)
0000000000000 D00000D00000D0000000 Cornfield (1956) 0000000000 ODOOODOOO
0000000 9%%00000000000000000000009%% 00000000

OR - exp(—qnorm(0.975)\/1/a + 1/b+ 1/c + 1/d)

coooooo

OR - exp(quorm(0.975)y/1/a + 1/b + 1/c + 1/d)

O000Comfield 0000000000000 0OO0OOOOOO0OOUOOODOODOOODDOODODOODOODODOODOOO
NewtonOOOOOOOOOOOOOOOOOUOODOOUUOOOOOOOO

0000000000000 000000000000000000000000000 2.0000400009%%0000
0 (0.37,109) 000000000000 0ODO0O0OO0ODOOOOODOUOOLDODOOODOO
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> oddsratio2 <- function(a,b,c,d) {
+ data <- matrix(c(a,b,a+b,c,d,c+d,a+c,b+d,a+b+c+d) ,nr=3)
+ colnames(data) <- c("OOOCO","0COoaQ","0O™"™)
+ rownames(data) <- c("OOO","COO","O00")
+ print(data)
+ OR <- (axd)/(b*c)
+ ORL <- OR*exp(-qnorm(0.975)*sqrt(1/a+1/b+1/c+1/d))
+ ORU <- OR*exp(qnorm(0.975)*sqrt(1/a+1/b+1/c+1/d))
+ cat("OOOCOOOOODO: “,0R," 9530000 =( ",0RL," , ",0RU," J\n")
+}
\\% oddsratio2(4,2,99996,99998) )

O0000000000000000WindowsOOOOOOFisher 000000000000 0000000O0O0ODO
OOoOoOOoOOOoO0O0oOOoOoOoOo200000000000 workspace 0000000000000 O0O0O0vedd0O00000O
oddsratio() OO ODODOODOODO 2.00004000000

> fisher.test(matrix(c(4,2,99996,99998), nr=2),workspace=10000000) R
Fisher’s Exact Test for Count Data

data: matrix(c(4, 2, 99996, 99998), nr = 2)
p-value = 0.6875
alternative hypothesis: true odds ratio is not equal to 1
95 percent confidence interval:

0.2866293 22.1101755
sample estimates:
odds ratio

2.000022
> require(vcd)
> oddsratio(matrix(c(4,2,99996,99998), nr=2),log=F)
[1] 2.00004

J

ved DOOOOO oddsratio() 000000 95%0 0000000000 0confint() 000000 DOODOODODO
2.00004095%00000 [0.43,9.39) 0000000000000 O0OOD0OODODOOOOOOOOODDOODOOOOOODO
ooooogoooo

> require(vecd)

> OR <- oddsratio(matrix(c(4,2,99996,99998) ,nr=2),log=F)

> ORCI <- confint(OR)

> cat("OOODOOOOGOGO: ",0R," 95%0000 = [ ",0RCI[11," , ",O0RCI[2]," I1\n")

93 0DO00OO0OO0OO0OOOO0OO

0000000000 O00000000000000000000000000000000000000m, —m

00000000000 00O000O000000000000000000O000OO0OO (m—m)/m

000 0O0000000O00000000000000000000000000000000000000 (7 —
m2)/(1 = m2)

000000 000000000000000000000000000r=(X~+Y)/(mi+mp)0000 (x— m)/7

0000Q 00000 -10010000000000000000000Q =(0OR-1)/(OR+1)0000000 0
ogooad
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00000 (¢) 0000000 0OOD0O0O 1,000000000000000000000006,,6,000000000
00000000000000000000¢=+/(m1 —m)(01 —0)000000x000000000 kxmO
000000000000000000000000 x(0000»00000+/X%/n0000000k0 m0O0O
0000000000 +¢000000000000000 +f—-10000000

000000000000 00000C O00000000000000000000000000000000000
00000000C=+/¢*/(1+4?)000000000000000000000+/(t-1)/t0000

000000V 0000000000V =¢/y/t—1000000000000000001000000000000
0000000000000

0ooooooooooooooooooOOoOOCcOoOooOO0O0o0oooo voooooooooooooooooooo
OO00OO0O0O0OO0veddOOOOO assocstats() O00O0O0O0OOOOOOOOODOOOOOOOOODOOOOOOOOOO
cobooooboooooobooooboooOoOOoOoOoboOoO0oOOoOobOOoO0OoOOoOobOOoOoOoOOoOoboboOoooOOoOooogn
ooooboooooooooooboooooooooboooooboomooooobooooboooooboooobooboooobooogo
coboodoobooboodooboooboo0oOoOoooo0oOoOOooOoo0oOOoOobOoOo0OobOOoOoOoboOoooOOoOooogn
ooooooooooooooooOooooboO0o0O0oooooooooooo0oOoooooooooooon 0.00200
cooooooobooobooooood

> require(vecd)
> assocstats(matrix(c(4,2,99996,99998) ,nr=2))

94 x0O0O0O

0000000000000 0000000000000000000000O00000O0O0OO0OO0 test-retest reliability
0000000000000 0000000000000000000000000O00ved0 00000000000
agreementplot() 00O O0OOO0OOOOO

Do gogox un

OO0Oo a b mi
o0oox c d mo
ad nq n9 N

0000000000000000000000000000000000000000000000000000000
000000000000000000 P.=(ny-mi/N+ny-me/N)/NOOODDOOODOOODOOOOOOOo0 00O
0000000x 00000000 P,=(e+d)/NOOODOODOOOk=(P,—P.)/(1-P,)0000000x000
000000000000000000000000000000000

x000 V(k)OOV(k)=P/(N-(1-P,))000000k/y/V(s)0000000000000000000000
0x=000000000x095%000000000000000000000000x0000000000000000
x000000 9% 00000000000000 ROODDO0OO00D0000ox00000000000000000
00000000000000000000000000 10000000000000x00000002000000
x 0000000000000 30000000000x0000000 1900000000000000000000
oooo
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> kappa.test <- function(x) {
+ x <- as.matrix(x)

+ a <- x[1,1]; b <= x[1,2]; c <- x[2,1]; 4 <- x[2,2]
+ ml <- a+b; m2 <- c+d; nl <- a+c; n2 <- b+d; N <- sum(x)
+ Pe <- (nl*ml/N+n2*m2/N)/N
+ Po <~ (a+d)/N

+ kappa <- (Po-Pe)/(1-Pe)

+ seKO <- sqrt(Pe/(Nx(1-Pe)))
+ seK <- sqrt(Po*x(1-Po)/(N*(1-Pe)~2))

+ p.value <- 1-pnorm(kappa/seK0)

+ kappal<-kappa-qnorm(0.975)*seK

+ kappaU<-kappa+qnorm(0.975)*seK

+ list(kappa=kappa,conf.int=c(kappal,kappal) ,p.value=p.value)
+}

> kappa.test(matrix(c(10,3,2,19),nr=2))

$kappa

[1] 0.6840149

$conf.int
[1] 0.4282215 0.9398082

$p.value
[1] 9.907563e-05

J

vedOOODODOO Kappa() D00 mxmO0OO0DO00D00000000000O00D0000 000000000050
000 confint() 0000000 OOOOOOODOOOODOOOODOODOODOODOOOOOODOOOOOOOOOOOO
0oooooooono*ig

> require(vcd)
> print (myKappa <- Kappa(matrix(c(10,3,2,19),nr=2)))
> confint (myKappa)

10 2000000000

oobooboo200000000000000D000O0O0003000O0000O0O000O0O00ODOOODOO0OOO0O0ODOO
gooooooooOoOooogoooOoo 1opbo00obo00DoU00DoOO0 200000000 DOO0O0ODOOO0DbOOO
2000000000000 DODODbDO

ooooOoobDO0oO0oOo c3b0obbOoOoUoOoboOoDbD 20000DOO0OO0 cCctODcCc2bO0OOoUoOoOoDODOOO
mantelhaen.test(C1,C2,C3) DO O OO OOOTMP <- table(C1,C2,C3) 000 3000000000 TMPOOO
000 Omnmantelhaen.test(TMP) OO0 OO0 OO0O0O0O0O0OD COOO0O0O0O0O0O0O0O0 200 2000 B10B2000

*36 0000Po0 PedONOOOOD weights=0 0 000000000000000O00 weights="Equal-Spacing"00000O0OOO0OOOOOO
000000 Dweights="Fleiss-Cohen"0 00 000000000000 OO ncO000 1-(abs(outer(l:nc,1:nc,"-"))/(nc-1))"200
0 Oweights="Equal-Spacing"0 0000000 1-abs(outer(l:nc,1:nc,"-"))/(nc-1) 000000000000 x 0000000000
0000 2000000000000000 matrix(c(1,0,0,1),nc=2) 0000

T 0000000000 000000000000000009 000000000000000000000000000000 poor0000
0-0.2 O slight 000 00.21-0.4 O fair 000 00.41-0.6 O moderate 0 0 0 00.61-0.8 O substantial 000 00.81-0.99 O almost perfect O
00010 perfect 000000 0OLandis and Koch, 1977, Biometrics, 33: 159-174 00 000000000000000OO00OOOOOOOO
O000OvedOOO0OO0OO0ODOO00DODOOO0O0DOOO0ODOOO0OO0DOOOO0O0DODO0OO0ODO00DDOO00O000 k=00000000000000
gooooooooobooooDo
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0000000000000 000000000000000000000000 WoolfDOOOOOvedODODOOOO
woolf.test(table(B1,B2,C)) OO00OOODODODOOOOODDOOOOOOOOOOOOOOOOOOOOOOOOOOOO
00000000 20000000000000000000O0O0O0DODODOODOOOO suwbsetO) OODOODOOOOOO
gboboboboboboooboooooooooooooboobobobobobDobDoDLDoOooooboobobDoooo

goboobodbobooboobbooboobboobodbbooboobbooboobbooboobbaoon
oboboboooooooooboobo chisq.test(table(C1,C2))

000000000000 FisherJOO  fisher.test(table(C1,C2))

o0

ooooooooooo library(vcd); summary(oddsratio(table(B1,B2),log=F))
O0000000000DoOoDoOoOoO0OO  library(ved); assocstats(table(C1l,C2))

goboogab

gogbooboooobuoobooboo library(vecd); Kappa(table(C1,C2))

O0000Ox000000O00000O00 prop.trend.test(table(B,I)[2,],table(I))
00O Cochran-Armitage 0 0 O

0000000000000 000000  var.test(X™B)
goooooooooooobobobbbn

FoOOO

0000000000000 0000O00  t.test(X™B,var.equal=T)
gddddmodooooogootogo

0000000000000 oOoOoO0g t.test(X™B)

000000 moodood Welch OO

O

0000000000000 000000  wilcox.test(X"B)
Wilcoxon OO O DOOO

0000000000000 000000 t.test(X,Y,paired=T)

O O paired-t O O

0000000000000 000000  bartlett.test(X™C)
gdddouoooooooo

ggoooooogoooboboooooo 00000 avC) OODODOODO0ODODOOOOC
0000000000 TukeyHSD(aov(X™C)) 0O O O

booooodobodoood pairwise.t.test(X,C)00 00 Tukey 00O D000
Holm 00000000 O1library(multcomp) OO OO
simtest (X"C,type="Dunnett") U0 O O0OOOOOODO
000000000 simtest(X"C,type="Williams"
goooooooboooobooopbooooog
gooooooooobooboboboobooboooo
goood

O0000000x0O0D0O0000OO0O  kruskal.test(X"C) O pairwise.wilcox.test(X,C)

ooboooobOobooooOoOobooooonn
000 WilcoxonOOOOODOOOOOO
OxO00000000000000000  cor.test(X,Y)

) O
oo
oo

good

Ox 00000000000D000000O  cor.test(X,Y,method="spearman")
ooooooo

Ox 000000000 00000000  cor.test(X,Y,method="kendall")
ooooooo
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11 O0Oo0D0DoOogn

oobooooooobooooooooboobooboooOobObo0oOoOOoOobObO0OOOOobObOOoObObOOobOOOooDObOOoboOo
ocoooooooooboooooboooooboooboooboobooobooobooooooboobo0ooboooooobooDbDooDbon
0000000000000 0000000000000000 (Generalized Linear Model) 0000000 DO

Y=0+8X+c¢

00D00000000Y 0000000 X000000000000000000MB, 0000040000000
coobobomoboooooodoooooooooooooooooooooooooooooooboboooooogo
coboooobOooooooooooboooOoOoOoobooOoO0obOoOoOooOo0oOoOOoOobOOoOoOoOOoOobOoOoOoooOOoOooobogn
ooooooobooooooooboooo0ooobooooooboOooo0oooOoboooooobOoOooooooDoDOoooboOoo
O00000000000000000000000000000000000000000000000*°MRO00
glmn() OO00O0DOOOODOOOOO0DOOOOO0ODOOOOOOOOOODOO0OO0 IMOOODOODOOOODOOOOOOOO
coboodoobbooboodooobooooooooOooOooodoOobOoOoOoo0OoOOoOobOoOoOooOoOoOoooOoooOoOoOooogn
cooooooooboooboooooooobooobooOooOOoboOoboOobOOobDOobOOobOobOobOOobOOobOOobObObObObOObOobOO
0000000000000 CRANODODODOOODODOOOOOOOOODOOODODODOOOODODOOODOOoOoOoOOOOO
coooboocobOoobOOooooOooOobOOoOooobOOoOoOo0obOOoOobOOobObOOobOObObOObOOOoboOobOOobOoOoDOon
nls(O) 00000000 DOOODOODOO

111 DODOO0OO

RO glm() 00000000 DO0D0O0OO0DOOOODODDOOO()0DDO0O0ODOX10X20000000Y000OOYO
0000000000 ((2)(1)0000000000000D0O0000ODO00000O0O3)det DD LODOOOODOOD
00YOoOoOoOooOOOoOODOOOOODOOOODOODOOOODOOYDODODODOODOODODODODODMODODODODODOOODOODO
cibccoooOoooobcoobooobObocOoOoobooOoOoUObOObocOoOoOOCcyYyODOOOOODOOOOOOOOOODOOOOOO
oooo

> glm(Y ~ X1+X2)

> glm(Y ~ X1+X2-1)

> glm(Y ~ ., data=dat, family="binomial")
> glm(Y ~ C1+C2+C1:C2)

family 0000000 "gaussian"O0O0000 200000 family0OOOOOO0OOO0OO0O0OO0O0ODOO0ODOO0OO0OO0OO
00000000000000000000000000000000 (H)ODDO0OO0 1m(Y ~ X1+X2) 0000000
summary (Im()) 000000000000 0O00O0O0O0O0O0OOOO0OO0OO0OO0OO0OOO0O0OOOOOOOCOOOOOO0
00000000000Im(O) 0000000000 M) 0000000000000 000IWMO) 000000000000
00000000000 000000D000000000000D0D0O0000000x000000000000004)
0000 cCcixc2000000M) 0000000000000 000000Oanova(Im(Y ~ C1xC2)) 00000000
ood

00000000000 000000DO0OOres <- glm(Y ~ X1+4X2) 000000000000 COOOOOOOCOO
OO plot(residuals(res)) 0000000000000 0summary(res) 000000000000 O00O0O0OAIC(res)
000 AICO0O0O0DOOOstep(res) D0DO0O000DO0O0OO0O0DOOOOODODOO

*8 QQpoO00D000000O0Oo
*39 000000000000 00000000000000000000000000000000000O000000000ROO0O0O000O00
oo
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112 DO0OOOOODOOOOOOODObOOObDOO

uoooooobooooOotooooboboooboodoooooooOoboOooOoOoOooOoOoO0OoooOoboOooboOoOoOoooboo
ooooo

0oo 0000 (Y) 0000 (X)

t0000 10 000000 000000

afufalalufalaln 000000 00000000
000000000020 000000 00000000

ooooooo 000000 000000

ooooo 000000 00000000 30

ooooo 000000 0040

00000000000 [O0OO00000 O0O00000000000000000
0oooon 000000 000000

0010 WelechDODODODODODDOOO

0020 0D00000000000000000000000000000000000000000000000000
0000000000000 0D00D0000000000D0000000000D0D0000000D0D0D0O0O0000
000000000000000000000000000000000 TypelOO TypelVOO 4000000
oooooooo*og

0030 000000000000000000000

0040 000000000000 O00000O0O00MO0000000000000000000000000000
0000000000 DDO0O0O0n

113 DOO0O0OO0OD0OODOObOOo

gooobooooobooobooobbooboboobboobboobbooobboobboobboobDboooDo
gbobooooooooooobobobobooooooooobooboboboboo

gooooooooooobooobobbobobobbobbbbbbbbboooooboobobDbbbDbbbbbDbDbDbDbDbO
goboooogoogoobobobobooooobooobobboboboooobobobOobobobobooobobOobobooo

*0 QQgpoO0000000000D00000D00000D00000D0000D0000D0000D0000D0mMO0O00DO0D0O0oDoOo
gooooooooboooobooobooboboobUoobboOoboobOb0oOoboobDOoOobUo0obD LoD OD bbb OoDboOoD
Type ISSOODOD0OO00D0O00O00O0O0O0OO0O0OODDO0O0OO0O0UO0O0O0O0O0ODOODOODOOUOOOTyYpellOO TypelllOODDOOODOO

Type 1 0000000000000 O0ODOOUOOOOOOOODOOOOOUOOUOOOOOOUODOOUDOOODOOOODOUOOOOOODO
0000000000000 0000000D00000O0D0O0O0O0O0O00Typell SSOUODODOOD 2000000000000 00D0ODOOOO
goooooooooobooobooooboooooogoooooooDboooDbDbo0oDboooboooOobooD

Type 11 0000000000000 U0DODO0OOODOOOOOOOOUOOOOOOOOUOOOUODODOOOUDOOOODODOOOOOOOOO
0000000000000 0000 TypelIDDODDOODOUDOUOODDOOTypelVO SASO0ODODODOODOUOOUOOUOODOOOO
go00oosSASUO0O000O0000O00MOO0000O000000DO0O00O00DO0O0D0DO0O0DO0O00 MANOVADDOOODOOOODO
0000 Type IO DD0O00O0OO0DO0O0UOOOODOO TypelO TypellOOODODODOOODODODO0ODODDOOOODOOOUODOO 160000
Oooo IMLO Type lIIOO0OOOOOOOOOOOO

ROOODOO0ODOO anova() 0 aov() 00 Type [I00D0O00O00D000O00Oanova(lm()) 0 aov() 00000 car 000000 Anova()
00 Type I 000 Type lIIDO 000000 type="11I"000000000000000000000O00O0DOLibrary(car) 0000
help(Anova) D0 O 0OAnova() DO0DO0O0OO0OO TypeIIO SASO TypellODOOOO Type IID0OO00D0O0O0O0OOOOODODOOOOO
O0car 000000000 John Fox 00O “An R and S-PLUS companion to applied regression.” 0 p.140 0 Type HIIOO 00O O
0000000 A0D0DO0O0OOODOO0O BOOOOOOO AOOO BUOOOOODOOOOOOOODODOOOODOO0OODODOO0OOODOOOODOOOOO
00000000 ADOODOOODOOOOUO TypellIIDODOOUDOODODODOODOOOUOODOD SASOOUOODDOOOUOOUODODODOODOO

00o0o0oRO0OOOOOOOOOOOOOOOOO0O0OO0OOOOO0O0DO0ODO0OO0ODO0DO0OO000OOYibrary(car) 0O0ODO0ODO
Anova(1lm(Y~C1xC2)) 00 UO0 Type IDD0OUO0OO0ODODUOOOOOOOOOOOOOOOODOOODOOO
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gooooooooooboobbooobooobooobboob oL bbb boobboob b o
obobobobobobooobooooooooobooboobobobobobobDOobDooobooboobooboobobobooo
goooooobooooobooobboobbooobooobooobboobLboobLbLooLobboobboOoDbbO
gobobobobobobooboooooooooooboobobobobobobobDobLDoODoOoobUobobbobbo
gobooobooobooboobboobboobbooobooobboobboobbooobboobboobobo
god

0000000000000 00000000000000000O0o000ooooAICOOoOoOoOn

goooboooooboooobooobobuoooboooboboobboobboobDbooobboobboobbooDo
gboboboboboboboboobooooooooooobooboobob0oboboboDLDobooboob0obDoboOoo
goobooobooooobooobboobobooobboobb bbb boobboobboobDDbOoo
gboboboboboboboooooooooooooooboobobobobobDOoDLDoOobOOobOOobobDoooo
goboooboboooboboobboobboooboooboboobboobboobbooobboobbooobobo
goobgoobbooobooboooboobooobuoobooboboobo

> res <- 1lm(Y ~ X+Z)

> sdd <- ¢(0,sd(X),sd(Z))

> stb <- coef (res)*sdd/sd(Y)
> print(stb)

114 00000 (multicolinearity)

goboobooobooboooobooobooobboobboobboobboobobooobboobboobboono
0000000000 0oo0oo0oOoUoO0oyYOoOoUoOoooOoox10Xx200000000000000000D00OO
Im(Y ~ X1+4X2) 0000000000000 O0OOOOOOOOOOOX10X200000000000000O0O0OOO X1
0000000000000 00o0o00oO0X2000000000000000000000X200000000000
00o00o0oU0o00ooU0oOoUo0oUo0oUoO00oOUOO0oUO0UOo0UDO0ODOO0DO0OULOO0DUDOOODOUDOO
0000000000000 0000000000000000000D0D0000D0000000000 (multicolinearity)
oooooo

gooooooobooobooobbooobbooobboobboobLbooobboobboobboobbooL O
000oo00ooO0o00ooU00oo0o0ooo0o0ooOo0UoOoOO0O00OoOO0O0DooOOo0OooD 2001000
0000000 VIFO Variance Inflation Factor; 00 0000000000000 O0O0OOQOOOOOOOVIFO 1000
00000000000 000000000000000Armitageet al. 20020000000000000000000
ooo0ooOoOoOoDBPOOOOOOOOSBPOOOOOOOOOODODODOOOOOODOOOOOODOOOOOODOOO
000000000000 00000000000Ocentring0000000000OCO0O0OOCORODOMASSOOODOOO
Im.ridgeQO0O0 0000000000 O0OOOODAAGODOODO DO Maindonald and Braun, 200300 vif(O 00000
000000 VIFOOODOOOOOoOooooo*4o

*41' 00 Armitageet al. 0000000000000 00000000000O0000000
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o N
data(airquality) 0000019730 50 1000 90 30000 1540000000000000000000
0000000000 0000000000zoneOpph 000000000 SSolar.RODOOOOOOOODO 8:00
001200000 400000 77000 000000000000C00O00O0OO0O0O Langley0OOO0O0OOOMOWind

OLaGuardiaO0 000 7:0000 10:000000000000000 @M Templ 000000000 Month O [T Day

oo0ooooo
000000000000 000000000000000LaGuardia000000000000O0O0DO0OO0OOOO0
Oo000oo0o0O000o00000o0o0000

J

0000000000000 0000O00000D00000 Amitage 00000 VIFOOOOOO ROOOOOOO
coooooo

4 ™
> data(airquality)
> attach(airquality)
> res <- 1lm(Ozone ~ Solar.R+Wind+Temp)
> VIF <- function(X) { 1/(1-summary(X)$r.squared) }
> VIF(1m(Solar.R ~ Wind+Temp))
> VIF(Im(Wind ~ Solar.R+Temp))
> VIF(1m(Temp ~ Solar.R+Wind))
> summary(res)
Call:

Im(formula = Ozone ~ Solar.R + Wind + Temp)

Residuals:
Min 1Q Median 3Q Max
-40.485 -14.219 -3.551 10.097 95.619

Coefficients:
Estimate Std. Error t value Pr(>|t])
(Intercept) -64.34208 23.056472 -2.791 0.00623 **

Solar.R 0.05982 0.02319 2.580 0.01124 x*

Wind -3.33359 0.65441 -5.094 1.52e-06 x***

Temp 1.65209 0.25353 6.516 2.42e-09 *x**

Signif. codes: 0 ‘“**x’ 0.001 ‘x*x’ 0.01 ‘x> 0.05 ‘.’ 0.1 ¢ > 1

Residual standard error: 21.18 on 107 degrees of freedom
Multiple R-Squared: 0.6059, Adjusted R-squared: 0.5948
F-statistic: 54.83 on 3 and 107 DF, p-value: < 2.2e-16

> detach(airquality)

/

300ooooo VIFOOOO 1000000000000000000000000000 0 summary(res) 0000

000000000000000000005%000000000000000000000000O00O0D0OODOOO0

U0000000000000Adjusted R-squared0 00000000000 OOOOOOOO0ODOODOODOOOOOO
00000030000000000000000 60%000000000000

115 000000

0000000000 0DO00O0()ODLDO0OLO0O0OLO0ODO0O0O0O0ODO0OO0O0OO0 (2)D000DDO00obOODOOOO
ooobooooobooboooobooooooooooboooooooooboooDboOono
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goooboooooboooboooboooboboobboobboobboobbo0ooDbboobboobDbooL D
oboboboboboboobobooooooooobooboobobobob0obobobDoDoboooob0obDbobobo
O000ooO0o0ooooOoooooOoAICOOoOO

116 DOODODOOO

ooboooooooboboooooobObooOooOoOoOobOboOobOOoOoOobOOoO0OoOoOoOobObOO0oOoOoOoobboOooOoOoOoDboOo
gbobooooboboobboobobooboboboobobobobbobUob0 resboboboboobOobDOOO
WindOOOOODOOOOOOOOOOOOODOOO0OO0O0O0000O0Oplot(residuals(res) res$model$wind) OO OO
coboooooboooooooobooooboooooboooboooobooobooOoooOobOooboooobOOoobooOoooDoOoOooogon
coboodoobobooboooobooooooooooooooboobooooboooooooooooooooooogn
0000000000000 00000000O0000000D000000000ODplot(residuals(res)) 00000
oooooooobboooboooooooooooooooooooOooon

uoboboooooooboooooooOoooobooOooOobboO0oOoOoOooOboO0OoOOoObObOO0oObOOOobOOODObOOboOoO
predict) 0000000000000 O0ODOWindOOOODOOOOO 9%%00000000000000000000O
tobOooooboboobOoobO0oOoob0o0oo0obobooboboOobO000OdOwindOOOOOOzoneOOOOO4OOOOOOO
O000000000000000000000000000000 9%%00000000000000000 *20

4 ™
> data(airquality)
> attach(airquality)
> res <- 1lm(Ozone ~ Solar.R+Wind+Temp)
> EW <- seq(min(Wind) ,max(Wind) ,1len=100)
> ES <- rep(mean(Solar.R,na.rm=T),100)
> ET <- rep(mean(Temp,na.rm=T),100)
> Ozone.EWC <- predict(res,list(Wind=EW,Solar.R=ES,Temp=ET),interval="conf")
> plot(0zone~Wind)
> lines(EW,0zone.EWC[,1],1ty=1)
> lines(EW,0zone.EWC[,2],1ty=2,col="blue")
> lines(EW,0zone.EWC[,3],1ty=2,col="blue")
> detach(airquality)
\ J

Ozone

“2000000000000000 9% 000000000009%00000000000predict() 00000000 interval="conf"0 00
0000000 interval="pred"ODOOOOOOO
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000000000000000000000000000000000 3000000000 1000002000
00000030000 2000000000000000000000000000000000 2000000000
00000000

00D00f(z,¢) 0000000000000000000 {21,22,..,2,) 000000A0000000L(G) =
f(z1,0)f(22,0) - f(z,,§) 0000000000000 0000000000000D0000000L(Y) 0000000
00006000 ¢00000000000000000000000 L(Y)00000000000 600000000
0000000000000D0000000000000000000000000000000000000000000
00000 ¢000000000000000000 60000 mL(¥)00000000000000000000000
000000000000000000000000000000 x,000000000000000000000000
000000000000000000000000000000000 (199500000000

000000000000000000000000000000000000000000000000000000
00000000-200000 ADO@DOODO0O00D0000000000000000000000000000000
0000000000000 00000000000000000000000000RODOO1oglik() 0000000
000000000000000000000000000

00

cooboooooooooooooooooooooooboooooooooooooo0ooooooooOoooon
cooooooo

0000000000000000000000000 107°00000000000005%000000000000
ooooo0ooooo 200000 300000000 O0DOOO0ODbOO
: I

data(airquality)

>
> attach(airquality)

> res.3 <- 1m(Ozone ~ Solar.R+Wind+Temp)

> res.2 <- 1m(Ozone ~ Solar.R+Wind)

> lambda <- -2*(logLik(res.2)-logLik(res.3))
> print(1-pchisq(lambda,1))

’log Lik.’ 1.123134e-09 (df=4)

> detach(airquality)

J
ooo0000000ooooD MO O0OO0OO0OO0O0OOODODOO0O0O0O00O0O020000000000000000D
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OO0ooOooAlCOOO0O0OO0OO0O0OO0OO0O0OO0OO0O0OO0O0O0OO0O0O0O0O0O0OOOO0O0DOOOO0DOOO
oooLOOO0OOO0OO0OeO00000000000

AIC=—-2InL +2n

O000opoAlICOO00OO0OO0O0O0OO0O0O0DOOOOOOOOO

O0OO0ORODODOAICO OOOO0OOO extractAICO 000 200000000000 “Akaike’s An Information
Criterion” 0000000000 “The (generalized) Akaike *A*n *T*nformation *C*riterion for a fitted parametric
model” 000000 ODO0OOODDO0OODOOOOOOODODOODextractAIC() O MASSOOOODOOOOOOOOOO S4
0000000000000 00O00000000000000000 stepOOO0O0OO0OOO0O0ODOOOOODODOODOO
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ooo
000000000 2000000000 AICOOOOO0OOOAIC(res.3) 00000

-2xlogLik(res.3)+2*attr (loglik(res.3),"df")

0000 998.7 000 0extractAIC(res.3) DO OO 681.70000res.2000000000AIC(res.2) O 1033.80
extractAIC(res.2) 0 716.80 00000000000 AICOOODO AICOOOOOODODODOOOOODDOOOO
O0000000000000000000000 extractAICO 000 step() 000000000000 DOO0ODO*30
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gobobooobooobgooboooooooooboobooboboboboboooooooboobobooboboboDbOoD
0000D0000000000D0 AICO0000OO0O0ODDO0000000Dooooooooo**ooooooog
OO0O000step(1m(0zone~Wind+Solar.R+Temp)) OO OO stepO OO0 D000 OODOOOOOOOOOODOODOO
000000000 (direction="forward")0O OO OO (direction="backward")JO 0000 (direction="both")
goboobodbbOobobOdbdirection="backward"D 000000000000 O0OOODOOODOOOOOODODOO
OO0OstepO 0000000000000 0O0000000000O0ODODOOODODOD step()U0000OO0OOdirection
goboobbooboobboo

00000000 Oress <- step(lm(0zone~Solar.R+Wind+Temp)) 0000 0300000000000 00O0 AIC
000 682000000000000000000000O0 ressO000000000OOOODOOO AICO step(OO0O0OO
0000 extractAICO OODOODDOODODODOODODOOD AICOOO0O0O00O00O0O00O0O0OOOOOOO AIC(ress)
00000000000 m() 0000000000 00000 111 00000000zone O Solar ROODOOOOOO
O [ AIC(ress)-111x(1+log(2*pi))-20 0000000 681.7127 00000000 0stepO 00 0O0OODOOOO
gboboboobobobobooooooooooobooobooboboboboboboDoOobOoboboboo
gbobooooooboobobobooog

4 M

data(airquality)

attach(airquality)

res <- 1m(0Ozone~Solar.R+Wind+Temp)
ress <- step(res)

summary (ress)

AIC(ress)

N /
gooooooobooobooobooobbooobboobboobLbooobboobboobboobbooL o
gboboboboboobooobooooooooobooooboobobobobobDobDoOooboobooboobboobobobo
gooooooboooooboooobbooobobooobooobooobboobLboobLboobLbboobboobL b O
goooo
gobobooobbooboobooobooobobooobobooobboobboobboobobobooobboobboobo
00000 5% 000000000000000000000000000000000000000O00O0OOOO0O0
ogbobobobooobooooooooobobobobobobobobnooDg...... goobooboobogoogoooog
oooooobooooboooobooooooooboooboooobooobobooooOoooDbDbO0oooO0nOODOO0OO0ONR—-100

vV V. V V V V

*43 nttp://www.is.titech.ac.jp/"shimo/class/gakubu200409.html0 000 00000000000ROOOO0OOO0O000O000 8000
0000000000000 000D000D0000000000AICO 000 —2InL+200L00000060000000000000000
000000000000 0000000000n0000000 p00000 ¢ 0000000000000 n(l+In(2702)+2(p+1)00
DDDDDDDDDDDDDDD]extractAIC()EIEIEIEIEIEIEIEIDDDDDDDDDDDDnln(02)+2pDDDDDDDDDDDDDDDD
n(l4+In(27))+200000000000000000000000000000000000000000O0O0O0O0O0OOOOOOOOOO0O
oooooag

4 Rohelp 0000000000000 S-plus 00 step.glm() D000 O0000000D0OROOOOOOOOOODOOOOO
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O0000000000000000000000000000000000000000000n—100000000
000000000000 0000000O00OM.G. 0000000000000 0000M 00000 mOoOOo1981ld
0000000000000000RO step) 0000000000000
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oobooooooboooooooboboOoOoOOoOobObO0oOOOoOobObO0OoOOOobObOO0oObOOoOobOOoOooDObOOboo
O000OD0predict() 000000 DO0OO0DOODOO0ODO0OOOOOOOODOOOOOODOOODOODOOUODOOOODO
coooooobooooboooooooo
4 N

data(airquality)

attach(airquality)

>

>

> res<-1m(0zone~Solar.R+Wind+Temp)

> predict(res, list(Solar.R=mean(res$model$Solar.R),

+ Wind=mean(res$model$Wind), Temp=mean(res$model$Temp)))
[1] 42.0991

> detach(airquality)

%
gooooooobooobooobboooboboobboobbooobboobboobboobboobbooLo
oobobob0obobobobobobUobobUobobobDOobDOobDOobOOoboOoboOobooboOobOOsSolar.RO Temp O
goboooboooboboobbooobooobooobooobboobboobboobbbooobboobobo
O0000OSelar ROOODOODODOODODOOOODODODODDOOOOOOODOOmean(Solar.R,na.rm=T) DO OO0O0O0O
O000000OWind=2500000000000000000-8.100000000000000000009%%0000
000000 00oomoooooo AICO0000D0o0ooDoooo00o00000ooooooooooooood
gooboooooogoo
0000000000000 0D0000WindO OzoneOOOOOOOOOOODO WindOOOOOODO OzonedODO
OO0000O00DOO0O00DOOO00DOO0000O000O0 windd Solar.RO 2000000000000 00O00O0DO0COO
gobooboboobbooboobbooboobobooboobboobooobbooboobobon

a ™

data(airquality)

>
> attach(airquality)

> resmr <- nls(Ozone ~ ax*exp(-bxWind) + c*Solar.R, start=list(a=200,b=0.2,c=1))
> summary (resmr)

Formula: Ozone ~ a * exp(-b * Wind) + c * Solar.R

Parameters:

Estimate Std. Error t value Pr(>|t])
a 215.42457 33.11390 6.506 2.49e-09 *x*x*
b 0.24432 0.03331  7.335 4.32e-11 *x*x*
c 0.08639 0.02014  4.290 3.90e-05 *xx*

Signif. codes: O ’*¥x’ 0.001 ’**’ 0.01 ’%’ 0.056 ’.” 0.1’ ’ 1

Residual standard error: 22.01 on 108 degrees of freedom
> AIC(resmr)
(1] 1006.24

%

*45 http://aoki2.si.gunma-u.ac.jp/R/ALl_possible_subset_selection.html 000 D000 00000O0O00OO0O00OO0OOOOOO RODO
gooooooogo
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AICO0O0D0 2000000000000 00extractAICOO 0000000000 DOODO0O0OO0DMIOOOOOOOO
obobobobobooboooooooooooooboboboobobobobobobobDoooboobooboboboboboboo
obdob0ob0obobOod™Temp0obobobobOobOobOoOooOooOoobOoOU0obODDbOU0ObOUOODLOODOODDODODO
gobooooooooogog

> SRM <- mean(subset(Solar.R,!is.na(0zone)&'is.na(Solar.R)&!is.na(Wind)&!is.na(Temp)))
> predict(resmr,list(Wind=25,Solar.R=SRM))

016400000000 20000000000000000000000000000000 164ppb0000O0O
ooooo

1111 00000

O000000000000Y =8p+6:1X1+ BeXo+ B2 X1X-+c00000000000000 X;0000000
0000000000 YOOOOOOOOODOO0O0000000000YOD0000 X,00000000000000
X,0000000MX,0YOO0O00000 (slope) 0 X;000000000000000X,0000000000
Y OOOOODOadjusted mean; 00000000000X,0000000000000000000

ROOOX, 0000000 cO00OCO factor 00000000MX,0000000X000YOOOOOOOY
00000summary(1Im(Y"C+X)) 00000X00000000000CO00YOOOOOOO0O0O0O0000O00000
000000000000000000CO000000 102000000c20000000000000000000
0000000@MO000000000000000000000000000000000000000000000
0000000 (slope) 0000000000000 0O00O0D0O0O0O0O0O0O0O0O0OOOOOO0O0OOOOOO00O00OO
000000000000 00 summary (1m(Y[C==1]~"X[C==1]); summary(1m(Y[C==2]"X[C==2]) 000000000
0000000000000 sumary (Im(Y~"C+X+C:X))0 0 0 0 summary (Im(Y"C*X))00 0000000000000
000000000000000000000000000CO X0000000000 YoOooOoooOooooooo
0 OCoefficients 0 C2:XO0O0O0O0O00000000000MOOOO0O0O0O0O0O0O0OOONOOOOOOOOOOOOO
0000000000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000000000
ooo

oo

ROODDOODOOODO ToothGrowthOO OO 100000000000 30000000000 COOOOOOOOO
ooobobooooooooobooooooooboooboooooooooooOooooObo00oDO0O0nDn 1enOO
UOsuppU000O0OO0dese0 0000000000 O0O0OCOO0DOOOOOOOOOOOOODOOOOOOOOOON
oooood

goboooooooboooooooboooooooboboooooooboboOoOooOoOoobbooooOoOoobboOoooboOoooo
coodooooobooboooodbooodooobooooooooooo0ooobooooobooooooooOon
coplot(len~dose | supp) 00000 2000000000000000000000ODOOOOO
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> data(ToothGrowth)
> attach(ToothGrowth)
> plot(dose,len,pch=as.integer (supp),ylim=c(0,35))
> legend(max(dose)-0.5,min(len)+1,levels(supp),pch=c(1,2))
> abline(lml <- 1lm(len[supp==’VC’]~dose[supp==’VC’]))
> abline(1lm2 <- 1lm(len[supp==’0J’]"dose[supp==’0J’]),1lty=2)
> summary(1lm1l)
> summary (1m2)
N J

summary (1m1) 0 summary(1m2) 00 0000000000000 00C0OO00O00O0OO00O0O0OO0O0OOCOO0OO0OOO
goobooboobooboobooobbooboobbooboobbooboobboobUoobbooboobboOon

~
> 1m3 <- 1lm(len ~ supp*dose)
> summary (1m3)
Call:
Im(formula = len ~ supp * dose)
Residuals:
Min 1Q Median 3Q Max
-8.22643 -2.84625 0.05036 2.28929 7.93857
Coefficients:
Estimate Std. Error t value Pr(>|t])
(Intercept) 11.550 1.581  7.304 1.09e-09 **x*
suppVC -8.255 2.236 -3.691 0.000507 *x*x
dose 7.811 1.195 6.534 2.03e-08 **x*
suppVC:dose 3.904 1.691  2.309 0.024631 *
Signif. codes: O ‘**x’ 0.001 ‘x*x’ 0.01 ‘x> 0.05 ‘.’ 0.1 ¢ > 1
Residual standard error: 4.083 on 56 degrees of freedom
Multiple R-Squared: 0.7296, Adjusted R-squared: 0.7151
\\?—statistic: 50.36 on 3 and 56 DF, p-value: 6.521e-16 )

U00000D0suppVC:dose O UODO len0ODOD0DOO0O00O0DODODOOOO0O0ODODODOO0O0OOO0OOOODO
0.024631 0000000000 S%0000000000000000000000O0O0DOOOOOOOOOOOOOOO
goboooooboooooboboobbooobboobobooobooobooobboobboobbbooobbooDbOoo
gbooooooooboobobom

1112 O0DO0O0O0OODOODOOO

gooooooobooobooobooobooobboobboobobooobboobboobboobboooDob
goOoooOoOooOo0 gimOUOOOO

gogbgoboobooboobooboobooboobooboobbobbobbobbobboobooboob
gooboobooooboobooobooboooboobboobDboobboobobooboooDbooboobDboo™

00000000000 0D00 PODOOOW(P/(1—=P))=by+b0X;+..0:X, 00000000X, 0000000
O0000000X,.,.. X, 0OOODODDOD0DODOD0DX;=00000 X3=1000000000

bl = 1H(P1/(1 — Pl)) — ln(Po/(l — PO)) = hl(Pl * (1 — Po)/(PO * (1 — Pl)))
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O00000,n 0000000000000 00000000000000000000000D0000000D00O0OOg
95%00000
exp(by £ 1.96 x SE(b1))
ooooooog
OO0O0O00O0Olibrary(MASS) OO0 data(birthwt) OO DOOOOOOOOO
Springfield 0 Baystate 0000000 189 0000000000000 0O00O0OOOOOOOOOOOOOOOOO
O00O0Ostr(birthwt) 00000 OOOOOO

a I

low 00000000000O0O0O00OO0O0OOOOOO25kg000 10

age 0O

wt OO0OO0O0OO0OO0OO0OO0O000¢O0

race 00000000 OOOOOOOODOO
smoke 0O00OO0OOOODOOO

ptl pgooooooo

ht oooooooooood

ui 0o0ooooooooooooo

ftv gdoddooooogooooo

bwt O000O0O0OO0O (g)

“001b.0011b.0 0454 kgD O OO0

AN

N
4 require (MASS)

data(birthwt)

attach(birthwt)

low <- factor(low)

race <- factor(race, labels=c("white","black","other"))
ptd <- factor(ptl>0)

smoke <- (smoke>0)

ht <- (ht>0)

ui <= (ui>0)

ftv <- factor(ftv)

levels(ftv) [-(1:2)] <- "2+"

bw <- data.frame(low,age,lwt,race,smoke,ptd,ht,ui,ftv)
detach(birthwt)

summary(res <- glm(low ~ ., family=binomial, data=bw))

V V V. V V V V V V V V V V V V

summary(res2 <- step(res))

\_ /
O00000O000000OOsmokeTRUEDOODOOOOOOCOOD 0.8665820000 SEDQ 0.4044690 0000000
coboooooboooooboooooooobOOoOoOoO0bOOoO0obOOoOobOOoOoboOobOboOobOoOobOoOobDOoOobOOobOboOoDOOon
0000000000000000000000000000000000000 %%0000000000000000
coboboodooboooobooooOoooOoooOoboOoobooOooooOooooOoCcOoOoobooOn

45



> exp(0.866582)

[1] 2.378766

> exp(0.866582 - gnorm(0.975)*0.404469)
[1] 1.076616

> exp(0.866582 + gnorm(0.975)*0.404469)
[1] 5.255847

J
00000000000 0O000O0000D 238009%%00000 [1.08,5.260000000000OOOOOOO
0000000Oo9Y%%i00i00l0in0 1000000000000 5%00000000000000M

12 000000

gboogobooboobobooooobobobuoobobobobobb0 survival UOODOO0OOO0OODODO
00 (1995) 00000000000 GehanODODOOOODOOOOOROD MASSOOOOODDOOODDOODOODOODOO

020000000000000000000000000000O0O0O0O0O0O0O0O0OOO0O0O0ODOOLibrary() 000
require() OO ODOO

121 ODODOOOODOOD

00000 (1995) 0 p60-610000000Gehan 0000000 DOOOD 6-MPOODOODOODOOOOOOODOO
goOoOooO0OO0OO0OOOoROOODDOODOOOO

Swwv() 00000000 O0ODOOOOO0O0ODOOOOO0O0OODOOOOO0ODOOOOOODODODODOOOOOOOODOO
0D0000000000000summary() 0000000000000000*50

*“6 NoO000000000000000000000000000000000000000000 summary 000000000000000
oooooooooOoooooooono
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> require(MASS)
> require(survival)
> print(res<-survfit(Surv(time,cens) “treat,data=gehan))

Call: survfit(formula = Surv(time, cens) ~ treat, data = gehan)

n events median 0.95LCL 0.95UCL
treat=6-MP 21 9 23 16 Inf
treat=control 21 21 8 4 12
> summary(res)

Call: survfit(formula = Surv(time, cens) ~ treat, data = gehan)

treat=6-MP
time n.risk n.event survival std.err lower 95J CI upper 95% CI
6 21 3 0.857 0.0764 0.720 1.000
7 17 1 0.807 0.0869 0.653 0.996
10 15 1 0.753 0.0963 0.586 0.968
13 12 1 0.690 0.1068 0.510 0.935
16 11 1 0.627 0.1141 0.439 0.896
22 7 1 0.538 0.1282 0.337 0.858
23 6 1 0.448 0.1346 0.249 0.807

treat=control

time n.risk n.event survival std.err lower 95% CI upper 95% CI

21 2 0.9048 0.0641 0.78754 1.000
2 19 2 0.8095 0.0857 0.65785 0.996
3 17 1 0.7619 0.0929 0.59988 0.968
4 16 2 0.6667 0.1029 0.49268 0.902
5 14 2 0.5714 0.1080 0.39455 0.828
8 12 4 0.3810 0.1060 0.22085 0.657
11 8 2 0.2857 0.0986 0.14529 0.562
12 6 2 0.1905 0.0857 0.07887 0.460
15 4 1 0.1429 0.0764 0.05011 0.407
17 3 1 0.0952 0.0641 0.02549 0.356
22 2 1 0.0476 0.0465 0.00703 0.322
23 1 1 0.0000 NA NA NA

> plot(res,lty=c(1,2))
> legend(30,0.2,1ty=c(1,2),legend=levels(gehan$treat))

/

O0000000000000000000000000 LaTeXOOOOOOODO0OLaTeXOOOOOOOOOOOO
graphicx 000000000 eps 0000000000000 DO epsO000000O0O0DODOOOOOOOOOODODOOODO
000 OpenOfficeorgD Draw 00000 0000000000000 O00O000O0O0O0O000O0O000000 epsO0
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| — 6-MP
A -- control

0.0

fufufufsfsfs
4 A

gooooooooooooooooooooooooboooooooooboOoooooooooooooooooooooooo
O00difftime() 000 ISOdate() 000000 OO0OOOOOOOODOOOOOOOOOOO0OO0 xO0O0O000O0O00O0OO
00 namesO0 00 @M dob0 0000000 doddO00D0O000OO0O0DOO0OOO difftime() 000 400000000000
000000000000000000 [x$names=="Robert"] O Robert0 000 O0O0O0O00OO0OOO0OO0OO0OOOOOODO
0000000000000000000 alivedaysOJOOOO0OODOO0OO0O0O0O0OO 365.2400000000000000000
goooooooooooooooooooooooooodooooooooooooooooooooooooooogooon
000 Isbdate(Dd, 0, 0)000000000000OO0OO

™~
> x <- data.frame(
+ names = c("Edward","Shibasaburo","Robert","Hideyo"),
+ dob = c("1749-5-17","1853-1-29","1843-12-11","1876-11-9"),
+ dod = c("1823-1-26","1931-6-13","1910-5-27","1928-5-21"))
> alivedays <- difftime(x$dod,x$dob) [x$names=="Robert"]
> alivedays/365.24
\> difftime (ISOdate(2005,1,31),x$dob) )
N J

122 OODOOOOO

0000004000 2000000100000 A0O00OO0DOO0 200000 BO0O00O0OOUO0OOOOOOOO
000001000000 4,68900000000 2000000 5,7,12,1400000000000000000000
coobooooooooooooooooooboooooboooobooooobboOoooOooOobOOooboboOooooOoboooboooon

ooooooooooooooooooooooooooOooOOOO0OO0OOCOCOCOOOOOOOOoOoOoOoOoOoOoO 2x 20
cooooooobobooobooooooOooOooOoocOoOoOOoO0o0obOoOoOobOOoOoOobOOoOoOoOoObOoon

oooooooboooooobooooooooobo 1bgbooooooooobooooooooooooooooboODo
coboodooboboooooobooooboo0oOoobOoOooo0oOobOOoOoOoo0oOOoOoboboOooOOoOoboboOoooOoooogon
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oooooobooooooobooooooobooooooboooo0oobOoooooobOoooooooDoooogo
cobooooboooooobooOooOoO0oOOoOoOoOoOoO0obOOoOoOOoO0OobOOOobOOoOoOoOOoOobOOoOoOoDOOoOoooboOon
ooooboooooboobooooooooooooobobooon

ooooooooooooOoooOoOooooooD 100000000000 OOO0OC0O0O0O00O0O0O0200000A0
cobooooboooooooobooobooooobooooboooobooobooOooobOOoOobooOoOoobOOoOobooOoooDOOoOooogon
coobomooooooooooboooooooooobooooooooooooooooboooooOoooobcooOoogn
cooooooboooobooooo

000000000000000:0000 j0000000e,,;0000+:¢:00000000000 ¢,000:000
O0,000000000000n,;,000:00000000000000000n00000

€ij = dl . nij/ni

00000 0000000e;; =1-n1y/n =4/8=05000000 00000 j000000 d;;0000000
w; 000000000000 0000 uy; 00
uij = wi(dij — e;;)

gooooOoooooooooooooooooooooooooooooooooooO0o0 10000000

Uy = Z(dil - €i1)

0000000000
uy = (1—4/8) + (0 —3/7) + (1 = 3/6) + (0 — 2/5) + (1 — 2/4) + (1 — 1/3) + (0 — 0/2) + (0 — 0/1)

gooOoOoOOOoOooOoobooobo 1338000000oooooooooooooooooooooooon

(ni — nij)nijdi(n; — d;)
V=V;=
1 Zz: nﬂ(ni—l)
gobooboobobooboobobda
8—4)x4 (7-3)x3 (6-3)x3 (5-2)x2 “4-2)x2 (B-1)xl1
B4 (T-9x3 6-3x3, 6-29x2, (1-2x2 G-1)
8 72 62 52 42 32
O O O O4%4/64+4%3/49+3%3/36+3%2/25+2x2/16+2+%1/9 0 0 00 D 000 1457 00000000002 =
1.3382/1.457:I.QSDDDDDDDDDDDDDDDDDDDD95%DDDD3.84DDDDDDDDDDDDDDD
5%000000000000000000000DO0000ODOO0O0ODOOOO0ODOOODO0ODOOOOOOOOODOOD
gbobooooooooooboboboood
ROOOOOOOO0DOOO0OO0O0O00O0O0000000000 timeJO00000000 eventODOOOOO groupO OO0
survdiff (Surv(time,event) “group) 00 0000000000000 O0O0DOOOCOOO

V:

require(survival)

time2 <- c(4,6,8,9,5,7,12,14)
event <- c(1,1,1,1,1,1,1,1)
group <- c(1,1,1,1,2,2,2,2)

survdiff (Surv(time2,event) “group)

vV V V VvV V

0000000002 =1.20000 10p=0.2680000000000000 5%00200000000000000
cobooooboooooOoooooobooOoOoOooOoOooOoOoOoOOoOoOooOoOoOoOOoOobOOoOoOoOOoOoOoboOoOoOOoOoooboOon
oooo

T 000000000000 00000000000000000000000000000000000000000000000000000
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ggboooboooboboobooboobooobooboobbooboobo0boobbooDboo™WoDboOooo
bobooooobooboboboboooooooboboboo

0000000000oo0o0oooDoDD0000000000000000 2 = (#1,%2,--,2ip) 000000000 ¢
0000000000000 h(z,t)000000000000000O00O0ODO

h(zi,t) = ho(t) - exp(Brzi1 + Paziz + ... + Bpzip)

00000000000OA(t)0000000000000000000000000000000000000000
0000000 ¢000000000000000%,0,,..,6,000000000000000000000 exp(B2is)
000000000000000000000000000000000000000000000Cox00000000
00000000, 0000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000 1000 2000+¢0000
000000000000000 h($)000000000000000000000000000

exp(Biz11 + Baziz + ... + Bpz1p)
exp(Biz21 + Bazaz + ... + Bpzap)
gdoobooooooobooodoboooooob0oobDooobOooOoo D00 oo Do oooOoooo
doooooooooooooooobooooooobooooboobobo oo oo oo 0oooooooa
goooo
00000000D0DOoDOooDOooOooU0oU0oU0oU0o0o0oo0ooT0o0000000o0oo0oooDooDOoDOoon
goooooood S(t)DDTZtDDDDDDDDDS(O):1DDDDDDDDDDDDDDDDDDDDDD h(t)
oo t¢toddddooooooooooo

Pt <T<t+AUT>t) . S —S(t+At)  dS() 1 d(log(S(t))
ht) = Bim, At = A RS0 T Tat Sk dt

D0000000000000H®E) = [,
Doo
000000000000 00000000000 S(2,t)0000000000 H(z,t)00000

h(u)du = —log S(t) 000000000000 00S(t) = exp(—H(t)) 000

t ¢
H(z,t):/ h(z,u)duz/ ho(u) exp(Bz)du = exp(Bz)Ho(t)
0 0
S(z,t) = exp(—H(z,t)) = exp{—exp(B8z)Ho(t)}
gogboobobooboobbooboobbooboo
log(—1log S(z,1)) = Bz + log Ho(t)
gbobobobobobgoobooooooooooooooboobobobobobobOoDLDobOobOoboboboo
00o0000o0ooooooO0U000ooooooOO00Ud0 0000000000000 DOOOODO0ODODOODDOOOO
gobooboogn
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000000 CoxOOOOOODOOOOOODODOOOOODODOOODOOOO0ODOmMOODODOODOOOOOOOODOO
0000000000000 0000000000000000000000000ExactdO0OOBreslowd O OO Efron
0000000000000 0000000 ExactD000O0O00O0O0OO0O0OOOO0OODO0ODOOOOOOOOOOOO
0000000000000 O00000o0oooooooooooooooDoooooO0oDOnDOm Breslow OO
O0000000O0000ORO coxph() UOOOO0OOOO Efron000O00Breslow 0000 Efron 0000 Exact O
goboobodgn

gbooobooboboboobouobobobobbo0b0oUD timeJ000D0O0ODDOO eventDUO OO OO group
00 0 0O coxph(Surv(time,event)“group) 000 0000000000000 O00OO0O00OO0O0O0O0OOOOODOO
0000000000000 o000U00oDoDoO00U00 200000000000000 Exact0OD0OOOOOO
coxph(Surv(time,event) “group, method="exact") 0000000

GehanOOOOODOOOOOOOOOOOO 6-MPOODOOODOOOOOOOOOOOOOOODODOOO

4 N

require (MASS)

require(survival)

>
>
> res <- coxph(Surv(time,cens) “treat,data=gehan)
> summary(res)

Call:

coxph(formula = Surv(time, cens) ~ treat, data = gehan)

n= 42
coef exp(coef) se(coef) z )
treatcontrol 1.57 4.82 0.412 3.81 0.00014
exp(coef) exp(-coef) lower .95 upper .95
treatcontrol 4.82 0.208 2.15 10.8

Rsquare= 0.322 (max possible= 0.988 )

Likelihood ratio test= 16.4 on 1 df, p=5.26e-05
Wald test = 14.5 on 1 df, p=0.000138
Score (logrank) test = 17.3 on 1 df, p=3.28e-05
> plot(survfit(res))

%
0000000000000 0D 5%006-MPOOODOODODOODOOODOOOOODODOODOODOOODOOODOOOOO
exp(coef) 00 4820020 00000000000000000GMPOODOODOOOODODODO 4.82009%%000
00 [2.15,108]000000000000000O06MPOOOODOOOOODOOOOOOOOODOO
00000 plot() 0000002000000 000000000000000009%% 0000000000000
D*48|:|

8 O000000000000000000000000000000 10000000000000000000000 20000000000
0002000000000000000000coxph() 0O0O0ODOOsubset=(x=="6-MP") 00000000000000000O0OO0OOO0
gooooooooooboOooboOoOooooOoOoOooooooooooooo
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